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Question Number : 1 Question Id : 64635013755 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is a social characteristic of a learner?

(1) Power of sensory perception (2) Thinking ability
(3) Power of synthetic imagination (4) Ability to relate oneself with others
Options:

E45350540593. 1
64535054100, 2



E4535054101. 3
64535054102, 4

Question Number : 1 Question Id : 64635013755 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E45350540593. 1
64535054100, 2
64535054101, 3
64535054102, 4

Question Number : 2 Question Id : 64635013756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which i1s the characteristic of formative evaluation?

(1) Evaluation occurs at the terminal point
(2) Evaluation 1s used before programme design
(3) Evaluation relates to indicating learning outecome of teaching
(4) Evaluation is conducted during teaching
Options:
64535054103, 1
64535054104, 2
E4E35054105. 3
E4E35054106. 4

Question Number : 2 Question Id : 64635013756 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535054102, 1

64535054104 2

64535054105 3

64535054106, 4

Question Number : 3 Question Id : 64635013757 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Cone of Experience’ related to teaching-learning was suggested by
(1) John Dewey (2) Kilpatrick
(3) Froebel {4) Edgar Dale



Options:

64535054107, 1
64835054108, 2
4535054109 2
64535054110, 4

Question Number : 3 Question Id : 64635013757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4535054107. 1
64535054108, 2
64535054109, 3
64535054110, 4

Question Number : 4 Question Id : 64635013758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The field of study which uses role playing, simulation and self-evaluation as strategies for
adult learners is known as

(1) Pedagogy (2) Andragogy
(3) Anthropology {4) Psychology
Options:

E4E535054111.1
E4E35054112. 2
64535054113, 3
64535054114, 4

Question Number : 4 Question Id : 64635013758 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535054111, 1
64535054112, 2
E4E35054113. 3
E4E35054114. 4

Question Number : 5 Question Id : 64635013759 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following is a non-cognitive characteristic of learner?

(1) Recalling {2) Problem solving

(3) Identifying important sensory nputs (4) Believing what is true

Options:
645350541151

E4E35054116. 2
E4E35054117. 3
645350541158, 4

Question Number : 5 Question Id : 64635013759 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350541151
64535054116, 2
64535054117, 3
E4E350541158. 4

Question Number : 6 Question Id : 64635013760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following research formats focusses on hypothesis testing and generalisations?

(1) Experimental and ex-post facto research
i(2) Intervention based action research
(3) Phenomenalogical and narrative research

(4) Case study research

Options:

4835054119, 1
4535054120 2
64535054121, 5
64535054122 4

Question Number : 6 Question Id : 64635013760 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
54635054119, 1
c4AsZE054120. 2
C4E2E054121. 2
4525054122 4

Question Number : 7 Question Id : 64635013761 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following action sets best represent an action research cvele?

(1) Reflect, act, plan and observe (2) Plan, act, observe and reflect
(3) Observe, plan, reflect and act {4) Act, plan, observe and reflect
Options:

64535054123 1
64535054124, 2
64535054125 3
EAE3505412E6. 4

Question Number : 7 Question Id : 64635013761 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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: No Display Question Number :

(1)  T=a, Teai=ta, It 3 g (2) Ft=F, AT, s =

(3)  FFAFA, T, F=am A0 Tt (4) Terari=ta, Tr=F, F== AT =E

Options:

64535054123, 1
64835054124 2
64535054125, 5
64535054126, 4

Question Number : 8 Question Id : 64635013762 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is the main feature of qualitative research?

] Avolds positivist assumptions and data analysis
(2) Subscribes to pre-existing categories
(3) Collects data in numerical form

(4) Uses empirical method of data analysis

Options:
64535054127, 1
64535054128, 2

: No Display Question Number :

Yes

Yes

Yes



E4E35054129. 3
64535054120, 4

Question Number : 8 Question Id : 64635013762 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635054127, 1

64635054128, 2

£4635054129. 3

£4835054130. 4

Question Number : 9 Question Id : 64635013763 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A good review of research literature aims at
] Subjective analysis of the content
(2) Provides information about the authors and thewr affilhations
(3) GGenerates research questions and validating those gquestions
(4) Conducts multiple task based screening

Options:

645350541211

64535054122 2

64535054132, 2

64535054134 4

Question Number : 9 Question Id : 64635013763 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535054131, 1
4535054122 2
64535054122,
64535054134 4

Question Number : 10 Question Id : 64635013764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A researcher fails to reject the null hypothesis (Ho) in his/her research. What implications
will it carry for his/her principal research hypothesis?

(1) Accepting the research hypothesis
(2) Rejecting the research hypothesis

(3) Not talang any decision on the research hypothesis
(4) Improving the research hypothesis

Options:

645350541351

64535054136 2

64E35054127. 2

64535054138, 4

Question Number : 10 Question Id : 64635013764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T TEFA AT TG T T Tehe SRR 0§ Fhe T B I6 I T T o+
THF 1 g 27

(1) 09 TIERET 1 TR o S
(2) G TEET W FAEHR F
(3) g TR WS v T S
(4) g T § HER F0T|
Options:

64635054135, 1

54635054136, 2

64535054127, 5

64535054128, 4

Sub-Section Number : 2
Sub-Section I1d: 646350648
Question Shuffling Allowed : Yes

Question Id : 64635013765 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cesticn Label | Comprehension



Read the following passage and answer guestions:

There 15 a common thread running through the unravelling of India’s statistical
system. A modern economy with sound institutions is characterised by timely dissemination
of credible data. A long term policy needs an empirical basis and issues of veracity of data
will influence investment decisions. In a country with a large population of vouth, data on
national development, especially in core sectors like agriculture, industry, health, education
and employment, will be critical Here comes the role of National Statistical Commission, a
body created to establish standards. Questioning the data veracity is a global phenomenon.
The official narrative is always guestioned by the people on the other side of the fence.
Dissemination of economic data is essential to reach out to the public who lived their reality.
Lack of data will adversely impact the quality of national policies. India must start
strengthening institutions such as the central statistical eommission. These Institutions
must be granted autonomy and insulated from external interferences. Enhanced operational
autonomy will make their work credible. An indicator of operational autonomy is their
ability to stick to a dissemination calendar regardless of what the data indicates.

Sub questions

Question Number : 11 Question Id : 64635013766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is important for a modern economy?

(1) A common thread

(2) Dissemination of credible data
(3) Unravelling of statistical svstem
(4) Selective distribution of data
Options:

64535054139 1

64535054140, 2

646535054141, 3

64535054142, 4

Question Number : 12 Question Id : 64635013767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Investment decisions are impacted by

(1) Youth population (2) National development
(3) Issues of data veracity {4) Establishment of national institutions
Options:

64535054142 1
64535054144, 2
E4E35054145. 3
E4E3505414E. 4

Question Number : 13 Question Id : 64635013768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the work of National Statistical Commission?

(1) Establishing standards (2) Questioning data veracity
(3) GQuestioning official narrative {4) Supporting the public perception
Options:

E4E35054147. 1



E4E35054145. 2
64535054145, 3
64535054150, 4

Question Number : 14 Question Id : 64635013769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How can the gquality of national policies be improved?

(1) By living reality
(2) By supporting external interferences
(3) By controlling autonomous institutions
(4) By enhanced operational freedom
Options:
E4525054151. 1
E4535054152 2
64535054153 =
64535054154 4

Question Number : 15 Question Id : 64635013770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What does the passage ultimately suggest to National Statistical Commission?

(1) Restricting policy decisions
(2) Critically examining data veraecity
(3) Stick to a calendar of data dissemination

{4) Support development in core sectors
Options:

64535054155, 1

64535054156, 2

64535054157 3

64535054158 4

Question Id : 64635013765 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension
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Sub questions

Question Number : 11 Question Id : 64635013766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
I+ FRTmT + T #7071 7 27
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Options:

4835054139, 1
E4E35054140. 2
64535054141, =
64535054142 4

Question Number : 12 Question Id : 64635013767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) I e (2) WA fa=ry
(3)  Hiwsl =+ HoAal + Hag, (4) TS HETAT I TTE
Options:

645350541421
64535054144, 2
64535054145, 3
E4E3505414E. 4

Question Number : 13 Question Id : 64635013768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TS HITETH AT = F41 F:3 27

(1y A FEiiE w0 (2) ATHS! = Toadl T T4 w1
(3)  ATEHIF 93041 T Hag F0 (4) SEEET S HHAA FAT
Options:

E4E35054147. 1
E4E35054148. 2
64535054145, 3
64535054150, 4

Question Number : 14 Question Id : 64635013769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  =HE TR T F9 F0H

(2) =TI TEAETT 1 T T
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Options:
E4de35054151. 1
64535054152, 2

E4535054153. 3
E4535054154. 4

Question Number : 15 Question Id : 64635013770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
45235054155 1
64635054156, 2
646535054157 3
64535054155 4

Sub-Section Number: 3
Sub-Section 1d: 646350649
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635013771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Assertion {(A) : The correlation function of mass media is vital for any society.

Reasons (R) : The mterpretational aspects that include advertising and public relations
shape and influence public opinion.

Choose the correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) {A) is true, but (R) is false

(4) (A) is false, but (R) is true

Options:
45250541559 1

E4E35054160. 2
E4535054161. 3
E453505416%. 4

Question Number : 16 Question Id : 64635013771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64835054159, 1
4535054160, 2
64535054161, 5
64535054162, 4

Question Number : 17 Question Id : 64635013772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Some of the barriers to effective communication are

i(a) Polysemy

{b) Simple language

(c) Use of Cliche’s

(d}) Easy construction of sentences

Choose the correct answer from the codes given below :

(1)  (a)and (b) (2) (b) and (¢)
(3)  (c) and (d) (4) (a)and (¢)



Options:

64535054163, 1
4835054164 2
E4E35054165. =2
64535054166, 4

Question Number : 17 Question Id : 64635013772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a) X (b) (2) () W (c)
(3) ()3T (d) (4) (a) N (o)
Options:

64535054163, 1
64535054164, 2
E4E35054165. 3
EAE35054166. 4

Question Number : 18 Question Id : 64635013773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, use of communication technology pre-supposes

(1) Inattentive audience
(2) Luxurious amblence
{3) Extrapolation of contents
(4) New forms of expression and applications
Options:
E4E25054167. 1
E4E25054168. 2
E4535054169. =
64535054170 4

Question Number : 18 Question Id : 64635013773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64835054167, 1
64535054168, 2
64535054169, 5
64535054170 4

Question Number : 19 Question Id : 64635013774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a classroom, content produced for a specific user will lead to

(1) personality development (2) content filtering
(3) personalisation {4) general academic integration
Options:

E4535054171. 1
64535054172 2
64535054173, 3
64535054174, 4

Question Number : 19 Question Id : 64635013774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
w41 4 TR fafime warea = fau a6 7 fawasg =1 giomy g
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Options:

64535054171, 1
E4E35054172. 2
E4E35054173. 3
64535054174, 4

Question Number : 20 Question Id : 64635013775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The sequential order of elements in classroom communication is

(1) knowledge, interest, evaluation, awareness
(2) awareness, interest, evaluation, knowledge
(3) evaluation, awareness, knowledge, interest

(4) interest, knowledge, evaluation, awareness

Options:



E4535054175. 1
64535054176, 2
64535054177, 3
64535054178, 4

Question Number : 20 Question Id : 64635013775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(4) 4, TH, TEATEA, TIEED
Options:
64635054175, 1
64535054176, 2
64535054177, 5
64535054178, 4

Question Number : 21 Question Id : 64635013776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the missing term out of the following :
JAK, KBL, LCM, MDN,

(1) OEP (2) NEO
(3) MEN (4) PFQ
Options:

6453505417591
64535054180, 2
64535054181, 3
E4E35054182. 4

Question Number : 21 Question Id : 64635013776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FtatEd § 5 Jega T
JAK, KBL, LCM, MDN,

(1)  OEP (2) NEO
(3) MEN (4) PEQ
Options:

645350541791
64535054180, 2
64535054181, =
EAE35054182. 4



Question Number : 22 Question Id : 64635013777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the numhber 34axy is divisible by 90, then (x + 1) =7

(1) g (2) 8
) I (4) 6
Options:

E4E35054183. 1
E4535054184. 2
64535054185, 3
64535054186, 4

Question Number : 22 Question Id : 64635013777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Ife & 346¢y 90U =2 %, A (x+ y) =7

i1y B (2) 8
(3) 7 4) 6
Options:

E4E35054183. 1
E4535054184. 2
64535054185, 3
64535054186, 4

Question Number : 23 Question Id : 64635013778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
On a map, 1inch represents 250 miles. What is the actual distance between two cities if they

are 4% inches apart on the map?

(1) 1100 miles (2) 1125 miles
(3) 1150 miles (4) 1200 miles
Options:

64535054187, 1
645350541858, 2
E4E35054189. 3
E4E35054130. 4

Question Number : 23 Question Id : 64635013778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Foefl AT T 1 % 250 T T O B A T A WA T F A=A G 4Z TR

ST Wi o ATl g T

(1) 1100 = (2) 1125w
(3) 1150 (4) 12007
Options:

64535054187, 1
64535054188, 2
645350541859, 3
E4E35054130. 4

Question Number : 24 Question Id : 64635013779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If 60% of (a—b)=40% of (a+b), then what percent of @ is b?

(1) 20% (2) 25%
(3) 40% (4) 50%
Options:

64535054191, 1
645350541382, 2
64535054133, 3
E4E350541394. 4

Question Number : 24 Question Id : 64635013779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e (a—b) F 60%=40% = (a+b) &, d a 1 b T Hia=d gm ?

(1) 20% {2) 25%
(3) 40% (4) 50%
Options:

64535054191, 1
64535054132, 2
E4E350541393. 3
E4E350541394. 4

Question Number : 25 Question Id : 64635013780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What will be the ratio of simple interest earned by certain amount at the same rate of
mterest for 8 years and that for 12 years?

(1) 3:4 2y 23
(3) 4:3 (4) Data inadeqguate
Options:

6453505415951



E4E35054196. 2
64535054157, 3
6453505413958, 4

Question Number : 25 Question Id : 64635013780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FRET 0T8T 70 9 99 #1279 =k TofU U JHTE =471 &1 ° ATeid HrgTo s47] I FI97d F47 i 7

() a4 (%5 23
(3) 4:3 (4) FATHE AT 3
Options:

645350541951
645350541396, 2
E4E350541397. 3
E4E3505413958. 4

Question Number : 26 Question Id : 64635013781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘All Judges are fairminded’ is an example of proposition.

(1) Universal affirmative (2) TUniversal negative

(3) Particular affirmative (4) Particular negative
Options:

E4E35054199. 1
E4E35054200. 2
64535054201, 3
64535054202, 4

Question Number : 26 Question Id : 64635013781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘gt =TT vy g o T FEE B

(1) ==y b8y (2) T Ty

(3) AtaTee e (4) Tafime Frg
Options:

E4535054199. 1
64535054200, 2
64535054201, 3
64535054202, 4

Question Number : 27 Question Id : 64635013782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following arguments ‘the relation that exists between premises and
conclusion is that of logical necessity™?

(1) Inductive (2) Deductive
(3) Demonstrative (4) Analogical
Options:

E4E35054203. 1
E4E35054204. 2
64535054205, 3
64535054206, 4

Question Number : 27 Question Id : 64635013782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fetatiad oA Tieaai § “aaR 999 A1 ke & 9§19 5 994 g ¢ 9% alled A-Erddr 1 g 8

(1)  FFEATES (2) A=
()  TEEAEE (4) HIETIAF
Options:

E4E35054203. 1
E4535054204. 2
E4535054205. 3
64535054206, 4

Question Number : 28 Question Id : 64635013783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre. E is to the left
of D. Cis between A and B. F is between E and A. Who is to the right of C?

(1) A (2) B
(3 D (4 E
Options:

64535054207, 1
64535054208, 2
64535054209, 3
E4E35054210. 4

Question Number : 28 Question Id : 64635013783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FEAA B,C.D,EAN FUag a0 § &z ol AL 4@ gU A2 E, D H ardff A3 C, A dR =+
fFHF 2 FEFNAFTIHE 2 CF gl AL FAR?

1) A (2) B
(3 D (4) E
Options:

64535054207, 1
E4E35054208. 2



E4E35054208. 3
64535054210, 4

Question Number : 29 Question Id : 64635013784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Inference (anumana) in Indian Logic is rooted in

(1) variable relation between minor term and major term

(2) mmvariable relation between middle term and minor term

(3) variable concomitance between middle term and major term

(4) mvariable concomitance between middle term and major term
Options:

E4E35054211. 1
EAE35054212. 2
E4535054213. 3
64535054214, 4

Question Number : 29 Question Id : 64635013784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AT FohEE § A 1 0d 7

(1) T 9% AN 0T 75 = &9 TiEd 99y
(2) TRl T8 I e & #g ATEG a9
(3) WISl U5 A EA UL o "= TiE) dgaidd
(4) TG Tg AN 0BT TE S A9Ed St
Options:
64635054211, 1
64635054212 2

64535054213, 3
64535054214, 4

Question Number : 30 Question Id : 64635013785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A B C D, EandF are six members in a family in which there are two married couples.
E, a teacher is married to the doctor who 1s the mother of C and F. B, the layer 15 married to
A A has one son and one grandson. Of the two married ladies one 1s a housewife. There 15
also one student and one male engineer in the family. How is A related to C?

(1) Grandfather {2) DMlother
(3) Sister (4) Grandmother
Options:

E4535054215. 1
64535054216, 2
64535054217, 3
645350542158, 4



Question Number : 30 Question Id : 64635013785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

% TER § A, B, C, D, E 3 F =: 9257 £ fomd & 3t femfeg <0t #1 E = o fonges 2, =71 fomme
SHAHEM A CANFARA MU BA AR F A AT g2 AF F T AN 3 2| &
feaTrEa ATgenaT O | U U1 7| TN 5 U i o T S S o 21 A CH 347 599 7 ¢

(1) &g (2) =@
(3 T (4) =T
Options:

E4535054215. 1
E4E35054216. 2
64535054217, 3
645350542158, 4

Sub-Section Number: 4
Sub-Section 1d: 646350650
Question Shuffling Allowed : Yes

Question Id : 64635013786 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label @ Comprehension

Consider the following table that shows the distribution of students in two sections Aand Bin a
school aceording to the marks obtained by them. There 15 a total of 45 students in each of the
sections A and B. Answer the guestions based on the data contained in the table :

Marks obtained by students

Marks MNumber of students in
in class interval Section — A Section — B

[0-9] 2 4

[10 — 19] 5] 3]

[20 - 29] 10 g

[30 — 39] 4 4

[40 — 49] 8 7

[0 - 59] 4 5

[60 — 69] T 5

[T0 — 79] 5] 5

Sub questions

Question Number : 31 Question Id : 64635013787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If the pass mark 15 30, what 15 the number of failures in both the sections together?

(1) 43 2y 35
(3) 16 4) 26
Options:

E4E35054219. 1
E4E35054220. 2
64535054221, 3
64535054222, 4



Question Number : 32 Question Id : 64635013788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the pass mark i1s 40, approximately what is the percentage of successful students mn
Section — B?

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

EAE35054223. 1
BAE35054224. 2
64535054225, 3
64535054226, 4

Question Number : 33 Question Id : 64635013789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many students in Section — A and Seection — B together have obtained marks less
than 107

(1) 10 (2 11
(3) 12 4 6
Options:

64535054227, 1
64535054228, 2
64535054229, 3
E4E35054230. 4

Question Number : 34 Question Id : 64635013790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many students in Section — A have obtained 30 or more marks but less than 507

(1) 12 (2) 14
(3) 10 4y 13
Options:

64535054231, 1
64535054232, 2
E4E35054233. 3
EAE35054234. 4

Question Number : 35 Question Id : 64635013791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

How many students in Section — A and Section — B have obtained 50 or more than 50 marks?

(1) 23 (2) 43
(3) 32 (4) 34
Options:

E4E35054235. 1



EAE35054236. 2
B4535054237. 3
64535054235, 4

Question Id : 64635013786 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label - Comprehension

fepAferfire arfers =1 fermfelat =1 Wrea #(=! & FER fa=rea § 2 #a A A B H faanfeii % faam =
297 3| el H9EH A A B 0 F 45 Tl 8| arfersn § fEu T sl % angn w weEi 1 39 den)

Ty TR s EEE
T fgv. A S B

[0 - 9] 2 4
[10 - 19] 5 5
[20-29] 10 9
[30 - 39] 4 4
[40 — 49] 8 7
[50 — 59] 4 5
[60 — 69] 7 5
[70 - 79] 5 6

Sub questions

Question Number : 31 Question Id : 64635013787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T, FAOF 30 B, T S WAl § Ao fernfea i w5 we e 20

(1) 43 (2) 35
(3) 16 (4) 26
Options:

E4535054219. 1
64535054220, 2
64535054221, 3
E4E35054222. 4

Question Number : 32 Question Id : 64635013788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ITe, IHTF 40 3 HFEH B O IH9 B TTel il s 9iase o TR 77

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

64535054223, 1
64535054224, 2
64535054225, 3
E4E3505422E. 4



Question Number : 33 Question Id : 64635013789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
O - A 31 O9F - B 24 o T faenferai 3 10 9 =59 &= 3 TRt

(1) 10 (2) 11
(3) 12 4) 6
Options:

64535054227, 1
64535054228, 2
E4E35054229. 3
E4E35054230. 4

Question Number : 34 Question Id : 64635013790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o7 - A H TR fer=nielai = 30 71 Wit 1= g 50 & 9 o+ Wied U 37

(1) 12 (2) 14
(3) 10 4y 13
Options:

E4E35054231. 1
EAE35054232. 2
64535054233, 3
64535054234, 4

Question Number : 35 Question Id : 64635013791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
O9FH - A 31T 9999 - B O Tood Toafelat 9 50 77 50 ° 19 37 Wred TeFu?

(1) 23 (2) 43
(3) 32 4) 34
Options:

64535054235, 1
E4E35054236. 2
EAE35054237. 3
64535054238, 4

Sub-Section Number: 5
Sub-Section Id: 646350651
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635013792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



While sending an e-mail, to differentiate among To : , Ce: and Bee : fields, which one of the
following statements is True?

(1) Recipients in the To : field can see the email addresses that are in the Bee : and Ce:

fields

(2) Recipients in the Ce : field can see the email addresses that are in the To - and Bee:
fields

(3) Recipients in the Bee : field can see the email addresses that are in the To : and Ce:
fields

i4) Only the recipients in the Ce : field can see the other email addresses in the Bee : field

Options:

64535054239, 1
64535054240, 2
64535054241, =
64535054242 4

Question Number : 36 Question Id : 64635013792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U S 0o 99d 509 To -, Ce : 31T Bee : Fivel § 19498 %3 & 9949 O (iaraiiad 5= § ® HE-97 951
27

(1) To:ﬁﬁﬁmﬁee:ﬁﬂe:fﬁﬁﬁﬁﬁ@mﬁﬂﬁﬂﬁiﬁmgl
(2) Cec : %ies § Wreawdl To : 3 Bee : Fiesl d Ta=m= Ha 741 =1 <@ 954 &
(3) Bee - Fieg § Wtashal To : 31T Ce - Fiesi § =@ 309 791 1 <@ T4 7
(4) Cec : e § S Wtasdl Bee : %lesl § A3 20 T4l 1 4@ Td 2|
Options:

E45350542359. 1

64535054240 2

64835054241 =2

BAB35054242 4

Question Number : 37 Question Id : 64635013793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A group’s access to digital technology and ancther group’s lack of access to it, will cause a
disparity known as

(1) Internet inequality (2) Web inequality
(3) Technological imbalance {4) Digital divide
Options:

64535054243, 1
64535054244, 2
64535054245, 3
EAE3505424E, 4

Question Number : 37 Question Id : 64635013793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U HHE I TEfsee Wi i Sremad A gEt g i e Agestd | S fauwdar s g 5
71 =l 2

(1) ST FEAT (2) F= FEEHA
(3) iR aEaed (4) Tefaea faar=m
Options:

64535054243, 1
64535054244, 2
64535054245, 3
EAE3505424E, 4

Question Number : 38 Question Id : 64635013794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In internet terminology, what does the acronym WYSIWYG stand for?

(1) Why You Saw Is What You Got (2) What You See Is What You Get
(3) Where You See Is Where You Got (4) What You See Is What You Got
Options:

64535054247 1

64635054245 2

64835054249 3

E4B25054250. 4

Question Number : 38 Question Id : 64635013794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T TICATTo TReraet | T 6 WYSIWYG %1 3=f gran 37

(1) ==L A T e LM (2) =eLH WmELR
(3) TEAL L A LM (4) =L H WEEZ L
Options:

E4E35054247. 1
64535054248, 2
64535054249, 3
64535054250, 4

Question Number : 39 Question Id : 64635013795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Software that vou can download for free, but have to pay to continue its use after a trial
period 1= called

(1) public domain software (2) freeware
(3) open-source software {4) shareware
Options:

E4E35054251. 1
EAE35054252. 2



E4E35054253. 3
64535054254, 4

Question Number : 39 Question Id : 64635013795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HivearT, f A9 F3les eredie 1 Hd 3, g gra9 =iy = 9=, 36 W S T % T
ATTH FTAH F T8 7, TIH Fa44 3

(1)  TEaF SHA FFeEIL (2) WA
(3)  AH-HE TiFET (4) IEEE
Options:

64535054251, 1
64535054252, 2
E4E35054253. 3
EAE35054254. 4

Question Number : 40 Question Id : 64635013796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following computer components 1s fastest in terms of speed of access?

(1) USE Drive (2) Solid State Drive
i AT ard Ihsk Drive

3) RAW (4) Hard Disk Dn
Options:

E4E35054255. 1
E4E35054256. 2
64535054257, 3
64535054258, 4

Question Number : 40 Question Id : 64635013796 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
et et Hazhl o | FH-31 5= I T = 3 H HgeE ga gt

(1) L uHH g (2) Hifas T2 IrA
(3) W (IMuW) (4) = fomr gr=
Options:

E4535054255. 1
64535054256, 2
64535054257, 3
64535054258, 4

Question Number : 41 Question Id : 64635013797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



One of the main outcomes of the Rio +20 conference was to develop a set of

(1) Sustainable Development Goals (2) Millennium Development Goals
(3) National Development Strategy (4) National Land Restoration Strategy
Options:

E4535054259. 1
64535054260, 2
64535054261, 3
64535054262, 4

Question Number : 41 Question Id : 64635013797 Question Type: MCQ Option Shuffling

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

frafl +20 HH@A 1 TF T0 T T 90=a9 1 5 &6 97

(1)  TEE fFwm 98 (2) TEETE: fawrg @
(3)  TSEF TRy T (4) T g T T
Options:

64535054259, 1
64535054260, 2
E4E35054261. 3
EAE35054262. 4

: No Display Question Number : Yes

Question Number : 42 Question Id : 64635013798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The time frame for the implementation of Millennium Development Goals was,

(1) 2000 — 20035 (2) 2000 -2015
(3) 2005 — 2010 (4) 2000 -2012
Options:

64535054262, 1
E4E35054264. 2
E4E35054265. 3
EAE35054266. 4

Question Number : 42 Question Id : 64635013798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

AEHIES FHHE TE o+ FA = I -HE R

(1) 2000 — 2005 (2) 2000 - 2015
(3) 2005 — 2010 (4) 2010 - 2020
Options:

64535054263, 1
64535054264, 2
64535054265, 3
EAE3505426E6. 4



Question Number : 43 Question Id : 64635013799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The duration for which of the usable compost generation is 3—6 months?

(1) Vermi composting (2} Semi-Automatic waste converter
(3) Pit composting (4) Automatic waste converter
Options:

64535054267, 1
64535054268, 2
64535054269, 3
EAE35054270. 4

Question Number : 43 Question Id : 64635013799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FeratEa 5 8 o 3TEmmarg e, e = a9y 3-6 918 = 5 B

(1) = e (2) HAF-TTNAd 998 FUEdF
(3) e $onieen (4) TE=ErAd 94 GUiEd®
Options:

64535054267, 1
64535054268, 2
E4E35054269. 3
EAE35054270. 4

Question Number : 44 Question Id : 64635013800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Oligotrophic lakes are characterized by

(1) High level of nutrients (2) Low level of nutrients
(3) Absence of nutrients (4) High level of organic matter
Options:

64535054271, 1
E4535054272. 2
EAE35054273. 3
EAE35054274. 4

Question Number : 44 Question Id : 64635013800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 9= # I T (2) TEH F 7 o1
(3) g F AYE (4) e TEET 1 3= T
Options:

64535054271, 1
64535054272 2
EAE35054273. 3



EAE35054274. 4

Question Number : 45 Question Id : 64635013801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

With increase in temperature, the dissolved oxygen content in a water body

(1) decreases
(2) increases
(3) remsain constant

(4) may increase or decrease depending on the temperature range

Options:

64535054275, 1
64535054276, 2
4835054277 2
4535054278, 4

Question Number : 45 Question Id : 64635013801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AT | g * 9= 79 g ° et Aifaeeq 19

(1) =z
(2) H@ed
(3) TERTETE

(4)  AIHE TIE F ATHE g2 I g 2
Options:
64635054275, 1
64635054278, 2
64635054277, 3
64635054278, 4

Question Number : 46 Question Id : 64635013802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The econstitution of India provides right to establish educational institutions of their choice
by all minorities as per

(1) Article 30(1) (2)  Article 29
(3) Article 33 (4)  Article 16(2)
Options:

64535054279, 1
64535054280, 2
E4E35054281. 3
EAE35054282. 4

Question Number : 46 Question Id : 64635013802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



O 1 TS AT9E=TH g 7 748 5 o 9= =g 7 o AT 5 39 A 2

(1) 3= 30(1) (2) T 29
(3)  Ig=e 33 (4) IF=T 16(2)
Options:

E4E350542739. 1
64535054280, 2
64535054281, 3
64535054282, 4

Question Number : 47 Question Id : 64635013803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SWAYAM refers to
(1) Study World of Action-Learning for Young Aspiring Minds
(2) Study Webs of Active-Learning for Young Aspiring Minds
(3) Student World of Action-Learning for Young Ailing Minds
(4) Study Webs of Active-Learning for Youth Awareness hModels

Options:

E4E25054285. 1

64535054254 2

64535054285 3

64835054286 4

Question Number : 47 Question Id : 64635013803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
WA AR T (F) F I T
(1) T2 T8 ATF UFEH-AT B 17 T ATEEd
(2)  TZE 959 ATF U -1 FIL 47 TEITITET AT5-5H
(3)  TZErZ dve ATH UFEH-AI- FIL T TRl HT358
(4)  TZE =A=H AR UFed-H- HIL I8 AT HI5-5H
Options:
64835054283, 1
E4E35054254, 2

E4E35054285. 3
EAE35054286. 4

Question Number : 48 Question Id : 64635013804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is an educational FM radio network?

(1) Gyan Darshan {2) Gyan Vani
i3} Gyan Dhara (4} GIAN
Options:

E4E35054287. 1
64535054288, 2



EAE35054289. 3
E4535054230. 4

Question Number : 48 Question Id : 64635013804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fr=tafaa 8 2 F3-1 Sy 16 w e 2=+ 27

(1) FHAZIA (2) T =TI
(3) FHEW (4) St AT
Options:

64535054287, 1
64535054288, 2
E4E35054289. 3
EAE35054230. 4

Question Number : 49 Question Id : 64635013805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following reports addressed the academiec, technical and administrative
problems of the examination system?

(1) Report on standards of the Educational System (1965)
(2) Report of University Education Commission (1948-49)
(3) Sargent Report (1944)
(4) Hartog Committee report (1929)

Options:

E4E825054291. 1

EAB25054292 2

E45350542593 =

645350542594 4

Question Number : 49 Question Id : 64635013805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Tt TEa Sidaedt O ® Tora Tiran yomedt =ht Stgiies, a-rd 1 Wemai- Gaeal = g fwan ?

(1) T 14 Tr28d A% & THd 952 (1965)
(2)  TOOrE ATE IS THTH FHEE (1948-49)
(3)  Hraiee fOre (1944)
(4)  Frem Fd o (1929)
Options:
64635054291, 1
64635054292, 2

E4E350542393. 3
EAE350542594. 4

Question Number : 50 Question Id : 64635013806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

During which wvear the present syvstem of affiliation of colleges to the Universities was
imtroduced in India?

(1) 1857 (2) 1948
(3) 1928 (4) 1966
Options:

E4535054255. 1
64535054236, 2
64535054257, 3
64535054238, 4

Question Number : 50 Question Id : 64635013806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T | metterarerd i favafaaradl § gwEga i 990 v a9 e g

(1) 1857 (2) 1848
(3) 1928 (4) 1966
Options:

64535054255, 1
64535054236, 2
64535054237, 3
E4E350542395. 4

PART Il Konkani

Section Id : 646350337
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 100
Number of Questionsto be attempted: 100
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350652
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635013807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



“The differentiations noted in the formation of the direct sign of masculine
noung in their extended form and the divergent post-positions for the
dative clearly mark of Konkani as a separate language from Marathi.”

& I STIT ST e ?
1) gH =
(2) FHIRERET FliAFT
(8) Fhfagmm Fesf
(4) B HTEH

Options:

64535054299, 1
64835054200, 2
4535054201, 2
64535054202, 4

Question Number : 51 Question Id : 64635013807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“The differentiations noted in the formation of the direct sign of masculine
nouns in their extended form and the divergent post-positions for the
dative clearly mark of Konkani as a separate language from Marathi.”

2 I AT suidedr- Tiai ?

1) gA =

(2) TR el
(8) fHfasgmTT et
(4) B HTEH

Options:

64535054299, 1
64835054200, 2
4535054201, 2
64535054202, 4

Question Number : 52 Question Id : 64635013808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
pishufid Y ST AT G e TeTiares qurE ST ?

(1) TeramE

(2) fesieram

(3) =¥

(4) & AH



Options:

64535054203, 1
64835054204, 2
E4E35054205. 2
64535054206, 4

Question Number : 52 Question Id : 64635013808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

pishufid Y ST AT G e TeTiares qurE ST ?
(1) TeramE
(2) fesieram

(3) Hedd

(4) HIHAH
Options:
64535054203 1
64535054204, 2
64535054205, 5
64535054306, 4

Question Number : 53 Question Id : 64635013809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“Ffea sfeememg 9 gafidareds S J9ear qigear 3t smadr =731 S
BureT ¢
(1) FERA
(2) shid
(3) HY HATHIES
(4) HEA

Options:

E4E35054207. 1
64535054208, 2
64535054209, 5
64535054310, 4

Question Number : 53 Question Id : 64635013809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(1) FINERA
(2) whid

(8) HeY HTHIeS
(4) S
Options:
CAEZ5E054207. 1
CdEZE054308. 2

64535054309, 3
E4E35054210. 4

Question Number : 54 Question Id : 64635013810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
W1iSTee 2

(1) TH-GH

(2) EId®

(3) Hld=h

=8

(4) T
Options:
64635054211, 1
64535054312 2
64535054313 =
64835054214 4

Question Number : 54 Question Id : 64635013810 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
snifirest ©

(1) TH~a®

(2) WIEl®

(3) =Es

e,

(4) ST
Options:
645350545111
64535054212, 2
64535054213 =



EAE35054214. 4

Question Number : 55 Question Id : 64635013811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“resar ST il B SRl G, & ST 36 36 Hat des ger e
1. &t 3aUl gidear Ga=AT Adfcthael ?

(1) oA

(2) AT e

(3) fmmit 2t

(4) fon

Options:

64535054515 1
64535054216, 2
64535054217, o
64535054318, 4

Question Number : 55 Question Id : 64635013811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“resa AR ft BTG SRl SO, @ sTerd e I i I g e

e o

a1.” & Saui gidear a=ar Fafetshaett ?
(1) ¥
(2) AT HEt
(3) fmmft et
(4) T

Options:

64535054215, 1
64535054216, 2
645350543217, 2
6453505432158, 4

Question Number : 56 Question Id : 64635013812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) Tt Aesel — et qrEs
(9) FITE THHTL — T HTHT
(3) Uiz b1t — Ygellsh A

(4) THT FBFN - HEWSA el

Options:

64635054219, 1
64535054320 2
64535054321, =
E4E35054322 4

Question Number : 56 Question Id : 64635013812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) oo s[eel - eIt HIEsi
(2) HIEE ST — I HTHd
(3) Iz SN - Ysells A%
(4) GHT FIH - HETSA el

Options:
64535054319 1

E4E35054320. 2
E4E350542321. 3
BAE350542322. 4

Question Number : 57 Question Id : 64635013813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
(1) 1989
(2) 1980
(3) 1979

(4) 1970

Options:

64535054323,
64535054324,
E4E35054325,
4535054226,

o I P



Question Number : 57 Question Id : 64635013813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
(1) 1939
(2) 1980
(3) 1979
(4) 1970

Options:

645350542323,
64535054324,
64535054325,
4835054326,

[ N Y

Question Number : 58 Question Id : 64635013814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

SHiwUild ATE-HaT AN
e

(1) Tarearia smar
(2) Uspd Sdl
(3) wEAdT

(4) faeg smar

Options:

64535054327, 1
E4E35054328. 2
64535054229, 5
64535054220 4

Question Number : 58 Question Id : 64635013814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

isufia A1e-HaTs A
EE ) D S

(1) Tarearia smar
(2) U Hdl
(3) wEAT

(4) faeg smar

Options:
64535054227, 1



EAE350542328. 2
64535054325, 3
64535054220, 4

Question Number : 59 Question Id : 64635013815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

I YA 9ET 2 FERdE qrEi= " S e 3 ?

(1) v

(2) et
(3) Taad

(4) &l

Options:

64535054251, 1
64535054332, 2
645350543352, 3
E4E35054224. 4

Question Number : 59 Question Id : 64635013815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

I YA HET 2 AR et W e Sirad 3 ?

(1) o

(2) et
(3) Toedt

(4) &

Options:

E4E350542321. 1
EAE350542332. 2
E4535054233. 3
64535054224, 4

Question Number : 60 Question Id : 64635013816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



S feewdn Hevre HeTed Ga=ar (HHIhRI ied Feli ?
(1) Hiferfes=y mite
(2) G AHTEH
(3) UM ANH A1FH
(4) el Fengs
Options:
£4e35054335. 1
E4635054336. 2

E4E35054237. 3
64535054228, 4

Question Number : 60 Question Id : 64635013816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

WWWWWWWW?
(1) ity M
(2) G HAHIERT
(8) UM A A1H
(4) Terreli g
Options:
LdE35054225 1
LdE2E054338 2

64535054337, 3
E4E3505433E. 4

Question Number : 61 Question Id : 64635013817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT AT ToRATIE el 37TET 9
(1) TFd®
(2) WHHS
(3) TAINS
(4) HAAT%q

Options:
64535054239, 1
645350543240, 2

64535054241, 3



EAE350542342. 4

Question Number : 61 Question Id : 64635013817 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(4) i

Options:

64535054239, 1
64835054240 2
E4E35054241. =2
64535054242, 4

Question Number : 62 Question Id : 64635013818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT AT ST AR SN0 Y © Il Hid TS 372 f&r=m i
IR ?

(1) el

Options:

645350542343, 1
64535054344 2
648350543245 =2
64535054246, 4

Question Number : 62 Question Id : 64635013818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT T ST SAHeaT= 1 SN0 AT © I Hid TS 2 {er=r i
IR

Options:

645350542343, 1
64535054344 2
648350543245 =2
64535054246, 4

Question Number : 63 Question Id : 64635013819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
(1) AT JHITH
(2) HEd! GhITH
(3) YL Yo
(4) st gerE

Options:

64535054247, 1
64535054348, 2
64535054349 =
648350543250 4

Question Number : 63 Question Id : 64635013819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
(1) el YA
(2) W YRIEH
(3) TR YHITH
(4) i EftgsrEE

Options:

E4E35054547. 1
64535054248, 2
64535054249 =
64535054350, 4



Question Number : 64 Question Id : 64635013820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘SaHUT T Hiehlas A= AT HTEdT 373 D0 FETE 2

(1) SHFH
(2) WX
(8) AHAT
(4) T wTEE
Options:

6453505425101
64535054352, 2
64535054352, 3
E4E350542354. 4

Question Number : 64 Question Id : 64635013820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“<aHUT B Biehich AT FHAT HTHAT 2 DIV FFU ?

(1) SIHFR
(2) uwf &
(3) YIAHT
(4) T WTEd
Options:

E4535054251. 1
64535054352, 2
64535054353, 3
64535054354, 4

Question Number : 65 Question Id : 64635013821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SUHTTE, Hifeed s7ahTeH, et & Ty Seal T siqedr Ga TAThd 16
Haset 9
) e it
9) JocdHd
)y AT =T 101 Hfear
(4) @& fewer S

Options:
64535054355 1

E4535054356. 2
E4E35054357. 3




E45350542358. 4

Question Number : 65 Question Id : 64635013821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
vt 2

(1) B ol g

(2) JIectEd

(3) TTURET=AT 101 FHiaar

(4) e ot saE

Options:

64535054355, 1
64535054356, 2
64835054357 2
E4E350543258. 4

Question Number : 66 Question Id : 64635013822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HAAT=AT TRsiShe IA9dTd oal HISAL, WIRT HTE, Il &1 JiEis e Fauer 2

(1) <ifds

(2) fasrdt

(3) dATeel-etfas®

(4) @RI

Options:

646350542359, 1
64535054360, 2
64535054361, =
4835054362 4

Question Number : 66 Question Id : 64635013822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HAAT=AT ATedshe ITAaTd ol shIYALT, @IERT, ST, FrEh &1 vidiss e Fevere 2
(1) aifds
() fosidi

(8) dTel-wfes®

(4) AT

Options:
64535054359, 1




EAE35054260. 2
64535054261, 3
EA535054236%. 4

Question Number : 67 Question Id : 64635013823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“YBTIVT, WIGIERAR @ ikl el Facal< o (3198 AWl HHT ardl
ST — g1 HATTEA AT

(1) . fEew

(2) ST qHT
(3) TISIHA ST

(4) THATY TTEE
Options:

E4E35054363. 1
EAE35054364. 2
E4535054265. 3
E4535054266. 4

Question Number : 67 Question Id : 64635013823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“YBTIVT, WIGIERAR @ ikl el Facal< o (3198 AWl HHT ardl
ST — g1 HATTEA AT

(1) . fEew

(2) ST qHT
(3) TISIHA ST

(4) THATY TTTEE
Options:

64535054362, 1
E4E35054364. 2
E4E35054265. 3
E45350542366. 4

Question Number : 68 Question Id : 64635013824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(1) Se=Tr= aEqfeafaan
(2) wmTSiie SReqfediaat
(3) Fesls Aeqfiafaat

(4) FTEE=AT TAfafaat
Options:

CAEZE054367. 1
CAEZE054368. 2
4525054369 2
Cde3E054270. 4

Question Number : 68 Question Id : 64635013824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TS R SEaaEiEe UEarEt et fFheam=t e’ smadr ?
(1) wesT=T awfafaEt
(2) @IS Fgfafaat
(3) sl Fegfafaae
(4) FTaE=AT AR faat

Options:

4835054367, 1
64535054268, 2
64535054369, o
64535054370, 4

Question Number : 69 Question Id : 64635013825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

)
(2) HeHI
)

(4) feeh
Options:
64535054371, 1
4835054372 2
4535054273 2
64535054274, 4

Question Number : 69 Question Id : 64635013825 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



w1, o, faar, v & a=g 300 wa aEideand Sisvid Sraeand 2
)

(2) HeHI
)

(4) feeht
Options:
64635054371, 1
64535054372 2
64535054373 2
48350543274 4

Question Number : 70 Question Id : 64635013826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
BTl Il Tl 2 R /e dl ¢ ? ST AT A=A AT
E——'}l

T feeetl ATt ST HiTedTT =T YR ST 2

Options:

4635054275, 1
64535054376, 2
64535054377, 2
64535054375, 4

Question Number : 70 Question Id : 64635013826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
BTl I el 2 i /i o ¢ * ST ST STE=AH AT
E——'}l

T foeatt ATl ST HiTed =T =T YR ST ?

Options:
E4E35054575 1



EAE350542376. 2
64350542377, 3
64535054275, 4

Question Number : 71 Question Id : 64635013827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
LT AThiaE- B0 HIea9ITE fhear=t aier are 2
(1) EfbemEmEE
(2) wEfsTEED
(3) WEmTETE
(4) RIS

Options:

64835054379, 1
4535054280 2
64535054281, o
645350542382, 4

Question Number : 71 Question Id : 64635013827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T AT B0 S SUSITE fheaT=l el Ae 2
(1) Wl
(2) WEEEEE]
(3) HIERTRETEl
(4) RIS

Options:

64535054379, 1
64535054380, 2
64835054281, =2
4535054282 4

Question Number : 72 Question Id : 64635013828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T fGoear TTaTael STeadr Th T T —
AT 9L ! B I Thaall okt sirad 7e !
(1) Toranfemimor
(2) HAEHAS
(3) UiTHETEF
(4) JHTEA 3789

Options:



E4E35054383. 1
64535054284, 2
645350542385, 3
64535054386, 4

Question Number : 72 Question Id : 64635013828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tohad fGoear TTaTdel 7o ThH T T —
AT 9L ! B ETd Thaell Haesh sirad HTeT !
(1) ferarfasiaor
(2) HAHHIS
(3) viuTHETEH
(4) 3IHTEA! 3789

Options:

64635054383, 1
648350543284, 2
E4E35054285 =2
64535054386, 4

Question Number : 73 Question Id : 64635013829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
(1) forer - Faftem
(2) ¥ - AR
(3) feier— gufeA
(4) STeel — Teifoe
Options:
4025054257, 1
64635054580, 2

64535054285, 3
64535054330, 4

Question Number : 73 Question Id : 64635013829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



“Fices A fR21g®” © W= HEHATH TIH A& HTET ?
(1) foret - gaftem
(2) AT — R
(3) feier-sufmm
(

4) el - TAlfeash

]

Options:

4635054287, 1
64535054388, 2
64535054389 =
64535054390, 4

Question Number : 74 Question Id : 64635013830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fedrefia 2
(1) "drmer=at

o e

(2) HHIaet
(8) HITSTA!
(4) TE=Al

Options:

64835054291, 1
64535054292, 2
64535054292 o
64535054394 4

Question Number : 74 Question Id : 64635013830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fearefia 2
(1) "armer=an

i

(2) HE G
(3) WGl
(4) TiE=Ar

Options:
64835054291, 1
E4E350543592 2

E4E350543593. 3



E4E350542394. 4

Question Number : 75 Question Id : 64635013831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ferferam =6 &nm Wide = srsrerr= el s Sisuila wa=an ael IsaTgd
leal 2

(1) 3.9 1819

(2) 3.w. 1821

(8) 3.4. 1857

(4) 3.4 1907
Options:
E4535054395 1
E4E25054396, 2
E4E25054397. 3
645350543595 4

Question Number : 75 Question Id : 64635013831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
farferam =6 & Wiee fiera=e sTrserrE Aal S Sisuiia wa=an aul IsaTgd
BEAl

(1) 3.9 1819

(2) 5w 1821

(3) s.W. 18587

(4) 5.9 1907
Options:
64535054395, 1
64535054396, 2
64535054337, 3
645350543398, 4

Question Number : 76 Question Id : 64635013832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



RIS ST o STV i AT 3731 AT fawar qui /1 1 i Faraa o
2 AT WA WRRid 9T ?

(1) "N
(2) fartrgesfi
(3) wAIA=Ell
(4) GftomHSEl

Options:

64535054299, 1
64535054400, 2
64535054401, =
64835054402, 4

Question Number : 76 Question Id : 64635013832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ERTA ST o STV i TG 3731 A9 fawar qu § S/ a1 Fia Faraa =
L ICEREEER Co R T

(1) HaISH
(2) ferdrgexfi
(3) vAiEERl
(4) GftomHasi

Options:

4635054299, 1
64535054400, 2
64535054401, =
64535054402, 4

Question Number : 77 Question Id : 64635013833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A=T=AT HTEAR “f= 8 @9 379 i e 2
(1) ANEiea=ar aHshiel sArearnLi-l
(2) FEIEA IUTid=AT AT
(3) FhLiea=an deen AT
(4) SRR Qe AT

Options:

64535054403, 1
64535054404, 2
64535054405 =
4535054406, 4



Question Number : 77 Question Id : 64635013833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A= IR fe=a g i 374 il feeamg
(1) FRLiee=an aHsmelH sareErH
(2) HEIEAT ST SATEATHIH
(3) SANEIEA=AT 1T ATREITHNHT
(4) FREream G 3o

Options:

64535054403, 1
64535054404, 2
64535054405, =
64535054406, 4

Question Number : 78 Question Id : 64635013834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AT qiEsi 8 Fafersha € 3qT HIv HI0T FEUIRT 2 — ‘G TS WIS AHaA g
ST UBIAT AT

(1) UL, HiTwe e
(9) i, wedsmeh FgOTer
(8) T3/ S=mre wurer

(4) BT AT FEUET
Options:
4535054407, 1
64535054408, 2
64535054409 =
64535054410 4

Question Number : 78 Question Id : 64635013834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AT qiEsi” 8 Aafersha € 3qT HIvT HI0T FEUIRT 2 — ‘G 1S WS AHaA1 g
ST UBIAT AT

(1) 1, Hitr Feurer
(9) i, wedsmeh FgOTer
EIREEEE IR IERAIE]

(4) HTE ATTETH FEUT

Options:
4535054407, 1
64635054405, 2



E4535054403. 3
G4535054410. 4

Question Number : 79 Question Id : 64635013835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
(1) STaEL, A, g,
(2) HHL T, e

(3) WigaTs, wfrtem, .
(4) HHT, ST, 7ML,
Options:

425054411, 1

C4E25054412. 2

64535054413, 3
64535054414, 4

Question Number : 79 Question Id : 64635013835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TSIHA ST Bl ‘@I @I deol” giqaetl are @ 2

(1) STSEL, A, g,

(2) HHEL T, e,

(3) I, wfafisma, .
(4) HH, ST, AHT,
Options:

E4535054411. 1
64535054412 2
64535054413, 3
64535054414, 4

Question Number : 80 Question Id : 64635013836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A ST ST A1 & i @i FRa =T SREHAN HTE
=47 ?

(1) deIqedl g4

(2) BT

(3) FTHER

(4) HHBHE S

Options:

64535054415, 1
64535054416, 2
64835054417 =2
4535054418 4

Question Number : 80 Question Id : 64635013836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T HATSTAT AT GIerqe € 619 @ idsi=a1 FEEHI HTETd
=7 ?

(1) UeAdsdl H-E

(2) HIBITTT

(3) FTHER

. N
(4) <HFHAH HS

Options:

64635054415, 1
64535054416, 2
64535054417, =
64835054418 4

Question Number : 81 Question Id : 64635013837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Y H. G8HIS Bid WA= HIAgiel HTEM ?
(1) Tism; w7ge
(2) UESIE; U FFHB
(3) @aE ha; yghee
(4) TSI, TSI

Options:
64535054419, 1



E4E35054420. 2
64535054421, 3
GAE3505442%, 4

Question Number : 81 Question Id : 64635013837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Y H. SIS Bl T HIedgicl HEw ?
(1) TS, sige
(2) YA, U ]
(3) Tad ha; ySfee
(4) TSI B0

Options:
64535054419, 1
64835054420 2

64535054421, 3
EAEZ5054422. 4

Question Number : 82 Question Id : 64635013838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HATIFAM SIfSeed HeAidl e diaas G Hiftas Had HTaaT 2

(1) S|

(2) oo wr

(3) ©H YT

(4) Tagamreas

Options:

4635054423, 1
64535054424 2
64535054425 =
64535054426, 4

Question Number : 82 Question Id : 64635013838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HATIFAM Slifseear aeidl faeps Fias gad Hiflas Had a2

(1) A

(2) o s

(3) ©HFAT

(4) Targsmreass

Options:



E4E35054423. 1
64535054424, 2
64535054425 3
64535054426, 4

Question Number : 83 Question Id : 64635013839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“SATHAT HEf” € 1B HITdTd A EI=aT T8I IS HHed ?

(1) 1954
(2) 1957
(3) 1955
(4) 1960
Options:

64535054427, 1
64535054428, 2
64535054429, 3
E4E35054430. 4

Question Number : 83 Question Id : 64635013839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“SipAR Wl T LIRS HITdT AIH GI=aT 961 IS e 2

(1) 1954
(2) 1957
(3) 1955
(4) 1960
Options:

64535054427, 1
E4E35054425. 2
E4E35054429. 3
EAE35054430. 4

Question Number : 84 Question Id : 64635013840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ST A BT ATLAHA | Biaedl il ST ?
(1) formas @esn
(2) Hieg &K
(3) HHATHL FeTesTil
(4) =7sitq Gfioreem

Options:



E4535054431. 1
64535054432, 2
64535054433, 3
64535054434, 4

Question Number : 84 Question Id : 64635013840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“STET ST & A1ZAFd] sidedr Sl sigedr ?
(1) s wean
(2) Hi4eg T
(3) HHATHL FETseil
(4) wSitg gfiorer
Options:
E4E2E054451 1
C4E35054452 2

64535054433, 3
64535054434, 4

Question Number : 85 Question Id : 64635013841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Siftteet S T fomwier 2 Feie @a=an st Fivr=ar Heesiedida
o1 sfior & =fir — 31 HHG

(1)
9) HSHI HGH — 3TV FIhHISHIL

(8) Had 43l — Tkl o FEleeH
(4) TTEEHL — HHT FHISHT

Options:

64535054435, 1
64535054436 2
E4E35054437. 2
64535054425, 4

S

Question Number : 85 Question Id : 64635013841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“sifireet dte it fomeise 2 el wa=ar st sivm=ar Heegediae 2

(1) it Siior d Gior — 3 S

(2) HSH WGBS — 3B HIHISHI

(8) Hac ¥l — HeThT o FEleeHT
(4) TeEHL — HHAT FHHIEHT



Options:

64535054435, 1
4835054436 2
E4E35054437. =2
64535054428, 4

Question Number : 86 Question Id : 64635013842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘AT BT’ BT TEash= | HUhR HUSTaeT Hishufid vl el 2
(1) AT FTISHRT
(2) e T Feh
(3) Traefid qesesn
(4) iEerar fegam

Options:

64535054439, 1
E4E35054440, 2
64535054441, 5
64535054442 4

Question Number : 86 Question Id : 64635013842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘A ETEITE" BT GEdshT= | HUHR HUSTaeT Hishufia vl el 2
(1) IHT AISHRN
(2) it TRt b
(3) T qesiesn
(4) e feggm

Options:

64535054439, 1
64535054440, 2
64535054441 5
645350544472 4

Question Number : 87 Question Id : 64635013843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



“fasama &1 ST HRISET=AT FTeasicdr YhEH Ea SHEH HEH el ?
(1) S gfasH
(2) TIIH ETfee YehTeH
(3) & UHEHE
(4) FEW IHEE 6

Options:

64535054443 1
64835054444 2
64535054445 5
64535054446, 4

Question Number : 87 Question Id : 64635013843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“feeama” &I S st HINSHT=A1 Hleadgicdld YhTH Ga YhIeH e el ?

(1) fHar gfasH

(2) TIIH wIfeed YeheH

(3) & HEHE

(4) FEWIHEE T8

Options:

64835054443 1
E4E35054444 2
64535054445 5
64535054446, 4

Question Number : 88 Question Id : 64635013844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fufiek ferdt fepcams weurerd 2
(1) e a] Hepea! sriadT,
(2) ST ATETs Ueh Fe fead.
(3) eI F&HIH Uk e faaHl.

(4) Ul SHSAT U e fadT.

Options:

64535054447, 1
64835054448 2
4535054449 =2
64535054450, 4

Question Number : 88 Question Id : 64635013844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

quifep fordt fereaes Faurid ¢
(1) Wb v el et
(2) USHT ATEI Ush F# feard.
(3) VI T Ueh F& {qal.
(4) Ul SHSATH Ush & fadT.

Options:

64535054447, 1
64835054448 2
4535054449 =2
64535054450, 4

Question Number : 89 Question Id : 64635013845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TeadTaal! aie 324
TR I FeuiE,
T JIEid HUH
ST&Ed T,
ELECKICEI L

1) IFSAR

Options:

64535054451 1
64535054452 2
64535054453 =
64535054454 4

Question Number : 89 Question Id : 64635013845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



‘Yol diah 3204
Ul RIA FTd] FuiE,
T AT HH
ST&Ed TEH,
ELECKIE I

1) SISt

Options:
64535054451 1

E4E35054452. 2
E4535054453. 3
E4535054454. 4

Question Number : 90 Question Id : 64635013846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Herl

2

1
2
3

4
Options:

64535054455, 1
64535054456 2
64535054457 3
64535054458, 4

b R =

S
G|

L%

(1)
(2)
(3)
(4)

Question Number : 90 Question Id : 64635013846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1) Herd
2 =
(3) HI
(4) do
Options:

64535054455, 1
64535054456, 2
E4E35054457. 3
E4E35054455. 4

Question Number : 91 Question Id : 64635013847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

agHlfe g JEmET

Options:

4835054459, 1
4535054460, 2
64535054461, o
64535054462, 4

Question Number : 91 Question Id : 64635013847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
qgslife HHE TBEETT

Options:

64535054459 1
64535054460, 2
64535054461, 5
64535054462, 4

Question Number : 92 Question Id : 64635013848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

FRIRH BrelEHid qan e g et s 12 2

(1) Hiewld

(2) FHEII
(3) ¥

(4) HELIG
Options:

E4E350544E63. 1
E4E35054464. 2
64535054465, 3
64535054466, 4

Question Number : 92 Question Id : 64635013848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FRICRIA TreiEAid e e g Teret 2 14 2

(1) Hiegsls

(2) HEIU
(3) A4

(4) HHIGU
Options:

64535054463, 1
64535054464, 2
64535054465, 3
EAE350544EE. 4

Question Number : 93 Question Id : 64635013849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FAGTI HAT” B JT1 FTeASTd AT AT S 18274,
(1) dfeetux
(2) @IS
(3) dieet Bifiren
(4) &% T
Options:

64535054467, 1
64535054468, 2
E4E35054469. 3
EAE35054470. 4



Question Number : 93 Question Id : 64635013849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘FAGTIR HA Bl Ia1 FTeASTd AT AT SIS SIS,
(1) dfet U
(2) GISTEAY
(3) dieet Bifdrat
(4) EHH
Options:

E4E350544E67. 1
E4E350544E68. 2
64535054465, 3
64535054470, 4

Question Number : 94 Question Id : 64635013850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TGS ARG HEIUIH HUTe I9aTSH! Fed1a Biqae @ad 2
(1) FErE
(2) Fel
(3) WIS
(4) HETH

Options:

64535054471, 1
64535054472 2
64835054472 2
64535054474, 4

Question Number : 94 Question Id : 64635013850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HITET ATBHGe HEETUH HTe IATSH FeaTes Biqae] @ 2
(1) =R
(2) #ell
(8) I
(4) SHETHR

Options:

64835054471, 1
4535054472 2
64535054472 o
64535054474 4



Question Number : 95 Question Id : 64635013851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SHE HIAT=AT AT ST AT His0f 2T 731 I LR 2
(1) 3¢9 gsl
(2) ARSI HHAT
(3) SBI TAE

(4) Yseiieh TRIH
Options:
64635054475, 1
64635054476, 2
64635054477, 3
64635054478, 4

Question Number : 95 Question Id : 64635013851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
STH leT=AT AT ST 0 Siswufl AR 71 B0 =T 2
(1) 3aF sl
(2) AW HTHAT
(8) ST A

(4) Usclish ARIE
Options:
64535054475, 1
64535054476, 2
64535054477 =
64535054475, 4

Question Number : 96 Question Id : 64635013852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ferent gt gzEmg

Options:
64535054479, 1
64535054450, 2

E4E35054481. 3



EAE35054452. 4

Question Number : 96 Question Id : 64635013852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e gt ToEmg

Options:

64535054479, 1
645350544580, 2
64835054481, =2
4535054482 4

Question Number : 97 Question Id : 64635013853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“HSHL W Bl YT 68 Sl HIvl 2

(1) HHT®eEHn

(2) TV FTHISHN

(3) Sftedr ArE

(4) SIEHIAT <TG
Options:
64535054483, 1
64535054454 2
64535054485 =
E4E35054486. 4

Question Number : 97 Question Id : 64635013853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘HSHL HBa” B1 YT €8 s 1 HIvy 2
(1) HHT®EEHR
(2) T FIHISFR
(3) AT A1

(4) SIEHIAT {UITEd
Options:
64535054483, 1
64535054454 2
64535054485 =



EAE35054456. 4

Question Number : 98 Question Id : 64635013854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T AT AT 278 AT e, afeHis At oY e,
(1) o ferem srisi
(2) T ST I I
(3) T fererrt
(4) TATd T ICE T

Options:

E4E35054457. 1
64535054488, 2
64535054489 o
64535054430, 4

Question Number : 98 Question Id : 64635013854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Tl ATl 27 AT STTedr qiHis St 318 JTEdr
(1) 0 ferem siisi
(2) TATe sET I %
(3) T faum %
(4) AT T I s

Options:

4535054487, 1
64535054488, 2
645350544589 =
64535054490, 4

Question Number : 99 Question Id : 64635013855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“daT FU” B o2 ST, ST el Sl s G A A ae ISETeT
AT 9

(1) 1991
(2) 1992
(8) 1993
(4) 1995
Options:

64535054451, 1
645350544382 2



E45350544353. 3
64535054454, 4

Question Number : 99 Question Id : 64635013855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“qard FUA° € LS, WA g il HEsl A= A saHnHdedH ISETeT
AL 9

(1) 1991
(2) 1992
(8) 1993
(4) 1995
Options:

E45350544591. 1
EAE35054452 2
64535054453, 3
64535054434, 4

Question Number : 100 Question Id : 64635013856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
BiA AT Tl s @ewEid vl qun gl sl sgai a1 Hed T i arEdi
ST ¥os] Ha YU ARG a U SAT9edT AQ-IEsi vl Freedn 2

(1) <TG HTEST

(2) <fdem #em

(3) WETESEL ¥

(4) uefaE L ug. fewian

Options:

64535054495, 1
64535054496, 2
64835054497 2
E4E35054498. 4

Question Number : 100 Question Id : 64635013856 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gid e Fel A weaEia Uil qur g stiss sHai a1 e faid qrEdi
ST e HAE YOI ARG B I ST @A H0 FHleedrd ?

(1) SIS HEST

(2) e wem

(3) WETIAE Hed

(4) Uefer . us. fewtzn



Options:

64535054495, 1
4835054496 2
E4E35054497. =2
64535054498, 4

Question Number : 101 Question Id : 64635013857 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) @ fefrft wferan

(2) dlecdidedl GepRI=T Uik
(3) &AT qRE wieurEt ufshar
(4) AR Uishan

Options:

64535054499, 1
64535054500, 2
64535054501, =
64835054502 4

Question Number : 101 Question Id : 64635013857 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) gar ot wfshan

(2) dlcdiqedl &bl ishar
(3) BT T ST ufshar
(4) ST UisRaT

Options:

64535054499, 1
64535054500, 2
64535054501, =
64535054502, 4

Question Number : 102 Question 1d : 64635013858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



“araeft qidt fadht el demng Ay feeziqeam dara gife S are et 9t Sone
Fiddet ATEE ?

(1) TERLTE

(2) HMSa

(3) TEHISTSl SR

(4) TG SHHI

Options:
64535054503, 1
64535054504, 2

64535054505, 3
E4E350545086. 4

Question Number : 102 Question Id : 64635013858 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“sraefl Ardt fordt foet danng avfiasidean dard wifa 9t are & 9t e
Fladaed e 2

(1) IR THI

(2) wihsia

(3) TEhisITsl ST

(4) HIEE ST

Options:

64535054503, 1
64535054504, 2
64835054505 2
4535054506, 4

Question Number : 103 Question Id : 64635013859 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e araar<ar feqear atr smeng 2

(1) sH

(2) @H

(3) =1

(4) =

T T

Options:
4525054507 1

E4E35054508. 2



E4E35054508. 3
64535054510, 4

Question Number : 103 Question Id : 64635013859 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SIg A=l fShaedr air 3T 2
(1) @M
(2) dH
(3

(4) °

:

Options:

64535054507, 1
64535054508, 2
64835054509 2
4535054510 4

Question Number : 104 Question Id : 64635013860 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

G-I BT 1= UehILia {ohaedll Aodt HTEdTd 2

Options:

4635054511, 1
64535054512, 2
64535054513 =
64535054514 4

Question Number : 104 Question 1d : 64635013860 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

G- BT H1e4 Yehid fohaedl dosl SHaT 2

Options:
64535054511, 1



E4E35054512. 2
64535054513, 3
64535054514, 4

Question Number : 105 Question 1d : 64635013861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HUUH {sia 2l wifocd YR Wa=a1 9l S A ATl
(1) ATcHfAZa™
(2) THHTEAA
(3) T fouft
(4) ESUHET HIES

Options:

64535054515, 1
64835054516, 2
64535054517, 5
64535054518, 4

Question Number : 105 Question Id : 64635013861 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HA Feie 21 wrfeca yshr Wa<an st A 1] AT,
(1) ATcH{wa™
(2) AT
(3) ATt freuft
(4) SSUHH HiES

Options:

64535054515, 1
64535054516, 2
64535054517, =
64835054518 4

Question Number : 106 Question Id : 64635013862 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
gt figurres wiet @ 81 Feie waran fAeie duemer 2
1) Bl A BT

Options:



E4535054519. 1
64535054520, 2
64535054521, 3
64535054522, 4

Question Number : 106 Question Id : 64635013862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
gt o w1t 8 81 feie waen fsie dueraet 2
(1) Bl HEH Sl
(2) ®@THaAT
(8) R

(4) Biarearaet
Options:
64635054519, 1
£4835054520. 2
£4635054521. 3
£4635054522. 4

Question Number : 107 Question Id : 64635013863 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
RSt~ ges Tt g farg givft wa=n wften erfeer=r fram aieena 2
(1) HE=daEns
(2) <
(3) AR

g

(4) HHHAE

Options:

64535054523, 1
64535054524 2
64535054525 =2
E4E35054526. 4

Question Number : 107 Question Id : 64635013863 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
St~ ge St 3 fage sivft = wfhen erftcr=r faam aieeard 2

(1) T=badidic



Options:

64535054523, 1
64835054524 2
E4E35054525 =2
64535054526, 4

Question Number : 108 Question Id : 64635013864 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
b

W sl FHAa!, Fe|

Fte R T, g

EECE CERCIERIRGICRI

| = L= 1=
HIHET- L E
& WeAia Ga=a1 aI3Hidel SEH 27T 2
(1) =PHEH

(9) HizE
(3) I

(4) weIfETe
Options:
64535054527, 1
64835054528 2
E4E35054529 =2
64535054520, 4

Question Number : 108 Question Id : 64635013864 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
W sl FHAa!, Fe|
Fte R T, g
HIHET- L E
2 Waitfia Wa=ar aIsRidel Sia- HTET 2
(1) e
(2) HZE
(3) HrEt
(4) HaIlRETE

Options:
64535054527, 1
64835054528, 2

E4B250545259. 5




EAE35054530. 4

Question Number : 109 Question Id : 64635013865 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Thehe” © afifes Fafeth=r sruehrdt s 2
(1) THTET Areshult
(2) Tt =ie
(3) | A Wi
(4) g HHd

Options:

6453505455101
64535054532, 2
64535054532, o
64535054534 4

Question Number : 109 Question Id : 64635013865 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Thehe” 2 afties Tafershar ek s 2
(1) THTET Areshuit
(2) fiis i
(3) A HA @i
(4) iz BT

Options:

64535054531, 1
64535054532, 2
64535054533 =
64535054534 4

Question Number : 110 Question Id : 64635013866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



STHT BTHT T8 | AT T ST
ke AUl GTaTof Hrsge
et A die /e Al ST
T Tt HITRAT 2T Hee Hiqraeal ?
(1) =S i Ri=a1 rededl
(2) desqi=an e fiaiqear
(3) A=A 99 Tiataedr
(4) FIS A gadiqedn gre-Tidideat

Options:

64535054535, 1
64535054536, 2
64535054537, 2
648350545328 4

Question Number : 110 Question Id : 64635013866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HTHT ETHT s |k Al 11 SIEsiT
Feaehs T WTaTTofl Irargel!
STHT BTHT o8 W AT T ST
I St e FTH Heer farde 2
(1) =S TiEhR=a1 Freaedl
(2) dAedi=n e fidide
() GAIIAT 99 Tiaiaedl
(4) FIS A gadiqedr grel-iididea

Options:

64835054535, 1
64535054526, 2
64535054527, o
64535054538, 4

Question Number : 111 Question Id : 64635013867 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



FAhaE ITRATET=Al Wa=a! SaEdT Aard ?
(1) Ftero, weger aiet, 3dE
(2) ko, arfieor, fasdem
(3) eAf-Hgu, FiiskTur, BraTr
(4) e, gredi, fasgem

Options:
64535054539, 1
64535054540, 2

64535054541, 3
64535054542, 4

Question Number : 111 Question 1d : 64635013867 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SAlhad FRATET=A] Ga=a] LT AHara ¢
(1) Todveror, weger aie, e
(2) Eehem, arfietor, farsgzmor
(3) EATHAY, ArfiepTur, SraTfr=or
(4) Faeq, wrefism, fsgmn

Options:

64535054539, 1
64835054540, 2
64535054541, 5
64535054542 4

Question Number : 112 Question Id : 64635013868 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Bl 3dnt ol S, & &ir 2 sieardear @a=ar fAserder !

Options:
64535054543, 1



E4E35054544. 2
64535054545, 3
64535054546, 4

Question Number : 112 Question 1d : 64635013868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
B3GR <Al Sfr. & €ir 31 Searaear @a=ar fsedar !

Options:

64835054543 1
E4E35054544 2
64535054545, o
64535054546, 4

Question Number : 113 Question Id : 64635013869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
(1) ST 37es! g-re

(2) ST A @

(3)

(4) GHBIEAT GHIS

Options:

64535054547, 1
64535054548 2
64835054549 =2
64535054550, 4

Question Number : 113 Question Id : 64635013869 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1) SUE@TE HER A

(1)
(2)
(3) s
(4)

4) EHHIATH THTS

Options:

64535054547, 1
64535054548, 2
64535054549 =
64835054550 4

Question Number : 114 Question Id : 64635013870 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
I ITATS” BN AT TEAET I ST W= Tedhis
STl

(1) =5 I — T s

(2) QTS BBV — TR

(3) FAEHE GIEHH — ikl

(4) forsm e - 3ed

Options:

64835054551, 1
64535054552, 2
64535054552 o
64535054554 4

Question Number : 114 Question Id : 64635013870 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
IAUE ITATE” BT AT AT TEET HI0 ST W= [eashis
S 2

(1) ==l ot — geraT e

(2) THIS gVH — FHYT

(3) WHATETRI TASHT — Hish!

(4) T d - i

Options:
64535054551, 1
64535054552 2

EdE825054555. 3



EAE35054554. 4

Question Number : 115 Question Id : 64635013871 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T2 B AT W Teqhrear Havid gatel ¢
Yh1IT UIETEahN — Fgrie Al feaaarar

(1
(2
(3
(4

I . o
Tfeiz Shedoh - FEHiSTae disd
HALT HSATHI — AT
01 TS — HET g2
Options:

E4635054555. 1

E4535054556. 2

E4E35054557. 3
E4535054558. 4

)
)
)
)

Question Number : 115 Question Id : 64635013871 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T2 B AT W Teqhrear Havid gatel ¢
Yh1IT UIETEahN — Fgrie Al feaaarar

(1
(

il : e |
Tfeiz Shedoh - FEHiSTae disd
HALT HSATHI — AT
01 TS — HET g2
Options:

E4635054555. 1
E4535054556. 2

E4E35054557. 3
E4535054558. 4

Lo

3

)
)
(3)
(4)

Question Number : 116 Question Id : 64635013872 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
3g 9 Tid IRuaEE FUE° € FUeT T SUES R Tsheld 9T 2




Options:

64535054559, 1
64835054560 2
4535054561, 2
64535054562, 4

Question Number : 116 Question Id : 64635013872 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
(1) TGl Heefl=ar
(2) HTATqeT A@l=
(3) S fiere
(4) g FeiE

Options:

64535054559, 1
64535054560, 2
64535054561, =
64835054562 4

Question Number : 117 Question Id : 64635013873 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HITHH F de=a1 FEAE HU B HTATeqahel ST, WHaT T sioft hiom=a
HTH! GE=AT ATeshish IEqEAT ST ?

) CSEE WS 9 - 3. safemT {1 are

9) e TG Ueh SI3T — HHel HIHd

3) HIBHRT — Sl A1

4) HIHUT - Yeeiish ATaH

Options:

C4E25054562 1

C4E3E054564 2

Ldc2E054565 2

CAEZE0E4EEE. 4

[y

(
(
(
(

Question Number : 117 Question Id : 64635013873 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



FAET FIH e =1 AT HI0 B AT TeaHEHe S, LT 70 Bivft shrom=ar
AT E==AT AIZhis FEGEHT STl ?
(1) “STia Faeil aRE - 37, s1fvremT &1, s
(2) TGB! HITGT U 2B — FHA HHT
(3) HIGHMT — Sd[ A1H
(

3

4) HHHHT - JSeiish A1ah
Options:

E4E25024563. 1
E4E525054564. 2
646250545065, 3
64635054566, 4

Question Number : 118 Question Id : 64635013874 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wHae et Wa g HlaaEel =,
(1) Tt
(2) ™

=

Options:

4535054567, 1
64535054568, 2
64535054569 =
64535054570, 4

Question Number : 118 Question 1d : 64635013874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

weHae feet wad g Hiaawee 2.

(4) SewlFf

Options:

64535054567, 1
64835054568, 2
E4E35054569. 2
64535054570, 4



Question Number : 119 Question Id : 64635013875 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

e hﬂmﬂwkj' 2 Wrongahgfaqul'(;f; il U1 WIRIEIE IeA1Ee ATl Giael FeTehl Hiskuitel Hed
STTETe ETel.” 3731 SIT9e] HacHa el giqaeal HIv Fgel ?

(1) TS HHEAT

(2) AW HGHTE

(8) SITEhISTS AT

(4) TEME

Options:

64535054571, 1
64535054572 2
64535054573 2
E4E35054574 4

Question Number : 119 Question Id : 64635013875 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Options:
645350545711

EAE35054572. 2
EAE35054573. 3
EAE35054574. 4

Question Number : 120 Question Id : 64635013876 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
BIqw sl nemiigy” 8l 1y waan

(1) il ferelia rfecr= el el quan SrE- .

(2) IV TG Hiftas giiEcmal arEr S Slaar SreE T

(3) Tt anadl sreareart 9t s e

(4) Tt Hiftgs il wiiecT= a@ SEs 37T,

Options:




E4E35054575. 1
64535054576, 2
64535054577, 3
64535054578, 4

Question Number : 120 Question Id : 64635013876 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

BIw $Rpw AaaThige 2 1y A
(1) Bl ferdia wnfEem= wael sbe el Sa- .
(2) HiBvi aEGear Hiftgs ifEemar aEr S Saar SeE S
(3) Fradt arad srearears a2 siaq e
(4) T Hiftas Siwoll @i s@ smEH s

Options:

64835054575, 1
4535054576, 2
64535054577, o
64535054578, 4

Question Number : 121 Question Id : 64635013877 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“HTAT Al Sl IV T ATHIE =AW AT SeTal el §ges i g B Hispuil
IaU el AN g Aol $.4. 1413 Gell $Iatd! W= Teadiqedr
TSI SITEA 3716 2

(1) =it yam 3, s aeeEe

(2) TS 39, Eeer tsee

(3) F T T, THTISEE

(4) THFH TR, Fesl TG
Options:

E4E35054579 1
4525054550 2
40235054551, 2
64635054582 4

Question Number : 121 Question Id : 64635013877 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ST Al ST BV IRV AT =AW A2 AT ATl HFgalsh 19 E Hishuit
3Ll s, AT g Afsent 3.9, 1413 doll Satiel W= Tsiadidedn
T STE STE 9

(1) =it vam 3, s aeee

(2) TSI 3rice, Eemen tsEe

(3) W < A THI TSAL

(4) THFH TR, Fesl TG

Options:

64535054579, 1
64835054580 2
E4E35054581. =2
64535054582, 4

Question Number : 122 Question Id : 64635013878 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wifecaT=AT yAISHAIRl wa=al < Rgifas giner femeEdrH afdesn s 2

(1) SlaAarE FH Sy

(2) elifspsharane 3Tt STeitfFhamETe

(3) HHRERGER IH! HHSGERE

(4) Wigdare A arsaaTE

Options:

C4EZE054553 1

4525054554, 2

4525054585 2

CAEZE054586. 4

Question Number : 122 Question Id : 64635013878 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
wifeear=ar garsrTiRf @er=al 9 fagifas vt = afdee w2

(1) SlaAarE FH SYaE

(2) wifshsharane Tt seifphamEe

(3) HHRERAER FH HHSGEE

(4) Wicdarg FH ArgaaTE

Options:

40235054553 1

64635054554 2

64635054585 3

645350545586, 4



Question Number : 123 Question Id : 64635013879 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“The Rational is Real and the Real is Rational’ & fI&m= sivnel ?
(1) TSdE TUT
(2) &«
(3) AuE. sfere
(4) S O,

Options:

64635054587, 1
64535054588, 2
64535054589 =
64835054590 4

Question Number : 123 Question 1d : 64635013879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘The Rational is Real and the Real is Rational’ & feI%m= el ?
(1) TS THT
(2) &«
(3) dum, sfeae
(4) S T,

Options:

64835054587, 1
4535054588, 2
64535054589, o
64535054590, 4

Question Number : 124 Question Id : 64635013880 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ST AT T e 6T SYaT: € AT HIvedl 4T Headl.
(1) HHs, FIAABN
(2) IR — HIACHN HIEIET

(3) TUSH — FHITES
(4) TISRIET - HIAHHTET
Options:

64535054591, 1
64535054532, 2
E4E350545583. 3
E4E35054594. 4



Question Number : 124 Question Id : 64635013880 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ST ARTIaTE e 6T Sal:” & ATl Hiveal T4 Headl.
(1) HMB. FIATAHN
(2) IGZ — HIATCHN HIEUE

(3) TULH — FIATEI
(4) TSISIET — HregHiqiEr
Options:

E4535054591. 1
64535054582, 2
64535054533, 3
645350545394, 4

Question Number : 125 Question Id : 64635013881 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
““Ush 3154 : WRI 14 TRIh Ygth: &1 eileh HMYH Wald™” H30 T[sar Heer Hiv

11|
(1) Fdstedl
(2) HTHEaEA
(3) 94
(4) WEEA

Options:

E4E35054595. 1
E4E35054596. 2
64535054597, o
64535054598, 4

Question Number : 125 Question Id : 64635013881 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
U 3155 : WRI, T4 TRI WTh: T el HHEH ald™” 30 Trsar Heer- Hi0

= |
(1) st
(2) ATHeaE
(3) amH
(4) HEHA

Options:
64535054595, 1
64535054596, 2



E4E35054597. 3
645350545358, 4

Question Number : 126 Question Id : 64635013882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TR Jeitiaed Hidd =S % 92 q 9 HAE A HE ST Jeiae] e HE
A AT AR 4o ST el T T Aided A1 =S AT 2T AHTHT
HE SITEH qAR et 3a% @a 2

(1) faemdf

(2) ST

(3) TuEH
(4) HiHTL

udl
Options:
4835054599, 1
4535054800, 2
64535054601, =
64535054602, 4

Question Number : 126 Question Id : 64635013882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T Ieiael Hitd sHe % 2 q 9 e S G GHT Jliqel wel e
HAAI ST AR 4 ST ST T T ATt A1 = AT T AHTHT
Gt STaH 99 STewl 361 @94 9

(1) feremdf

(2) STT™

(3) TuEH
(4) HiHEL

o
Options:
64535054599, 1
4835054800, 2
4535054801, 2
64535054602, 4

Question Number : 127 Question Id : 64635013883 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



. Sl 8 THTYRER S STERIH J9R orfid SrElEH fear

. Hm o fordt smear, T S Tsvan wiefie fordt e

F. WHIT AT AW Sl S A g AT

€. TR YT el HeheasAgaerd T 13 2The &
ST,

T feeean faamraedt

(1) 31,9, %, S =l fauHi sten
(2) o S o fremi st
(3) A fremr s
(4) O, 9, %, 8l =GR farmi 9%

Options:

64535054603, 1
E4E35054804, 2
4535054805, 2
64535054606, 4

Question Number : 127 Question Id : 64635013883 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ST &1 THOTTS RS TR e e eraraq fear.
®. WHI AR AT s da e feg A
g UEIEAT YSAT sieii=ar AheasAgaerd Y1 913 STeheH &
T,
T faeear faamnae
(1) 2, 9,7, & I faumi st
(2) o HHE o fremi STt
(3) & TS faremr suEn
(4) H, 9,7, STl Al [ I

Options:

64835054603, 1
4535054804, 2
64535054605, o
64535054606, 4

A

Question Number : 128 Question Id : 64635013884 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



9. 9gct wikqeaaet sl g S g
®.  HATSANcIcl B 2 HIEai Uefa 3. fEdse s,

S TSl FHN YeIdel’ § sresidl |l otk 4l MIGT A1deh HTE.
(1) ¥ A & fremi st
(2) ¥ WU F IH
(8) 3 S o e
(4) THHISIH
Options:
CAEIENE4R07. 1
CAEZEQE4EDSE. 2

E4E3505460%8. 3
EAE35054610. 4

Question Number : 128 Question Id : 64635013884 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

. et e S s T amde

%, HTeANEd B’ & FEell tefa s ug. feummE s,

g ‘ITeAqel I Teael B HIeeil | el ST SIS ATah STTET.
(1) 2 2 = faremar s
(2) .
(3) ¥ A o I
(4)

Options:

4535054607, 1
64535054608, 2
64535054609, o
64535054510, 4

Question Number : 129 Question Id : 64635013885 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(1) oi<ar geedr i< 3-8 Arset,

(2) Gt S HTgA- 9T HEhr e,

(3) S FHBiael HTH GHL Falded] HIHFHSA Fel HTH AT,
(4) IR STRATEHIH A= 6 Heoadl,

Options:
64535054611, 1

E4E35054612. 2
E4E35054613. 3
E4E35054614. 4

Question Number : 129 Question Id : 64635013885 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
(1) oiear geear Il S-S ArSe,

(2) TTET ST HATRIA- AT HEhH e,

(3) S FHBiaell HTH GHL Fealded HIRiHe T T AT,
(4) 3T 3TVATEHI AT GE Hoomdl,

Options:

64535054611, 1
64535054612, 2
64535054613 =
64535054514, 4

Question Number : 130 Question 1d : 64635013886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

i, STATIGT A iyt TS 37a-d ITTSTEY Feedil —
(1) Tasbr saT foaedt $epa gezred e,
(2) o sauaesia et et srfdeett 30t wfiee wwm.
(3) fot wifeea weeri=an fAevie wsia we o aem
(4) To=d =l SieEdE A1 i 98 592 Fu.

Options:
4525054515 1

E4E35054616. 2
E4E35054617. 3
645350546158, 4



Question Number : 130 Question Id : 64635013886 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HI. SEETE Tt Hishvit Aot s7ad ATSHET FeedT —
(1) Taser sar faaef! $epa gezred e,
(2) fo=t squacdia et st srfd et sav wiftes w0,
(3) foa wfeea yepri=ar fFduia =sia @rg W arety
(4) To=d ==t SRESE 1 92id 9§92 .

Options:

4835054615,
4535054616,
4535054617,
64535054618,

o LIRS

Question Number : 131 Question Id : 64635013887 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
I AT FfshAT FEURIR | — Hal HTe.

(1) el ST Y sie,

(2) AT AHITGA! G T,

(3) T ATHIIGA! SIS LI,

(4) I TG A TS T

Options:

64535054619, 1
64535054620, 2
64535054621, 2
4835054822, 4

Question Number : 131 Question Id : 64635013887 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feram =axh A "TEH T I ST U |13 o9 sheod ﬁqltgﬂiﬂﬁﬁ
3T HT= IfohaT FEUET HISiar — Ga1 Fele.

(1) = AT G e

(2) FFT AT G T,

(3) T ATHIIGAl IS ST,
(4) AT AT A T TF.

Options:
4535054619 1

E4E35054620. 2



E4E35054621. 3
BAE35054822. 4

Question Number : 132 Question Id : 64635013888 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
AR wifgea € wr vad Sradt B Aigedt 3 s 2
(1) 91T HEAER-TETEREAT (Indologists) SRS
(2) AR HifecasmET=ar dfeamt
(3) IT=ATRIT SMET=AT Hifecd STsATEHHT
(4) Termant framdisrear e s

Options:

64535054623, 1
64535054524, 2
E4E35054825. 2
4535054826, 4

Question Number : 132 Question Id : 64635013888 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
et wifecr & dar qaet wradt wi digeft s st o
(1) 1T AEAEEETEREAT (Indologists) SATEHHT
(2) N T dfEart
(3) A=Al ST Hifecd STsaTaehiHT
(4) Teraawdt frndier=ar emare st

Options:

4635054623, 1
64535054624, 2
64535054625 =
64535054626, 4

Question Number : 133 Question 1d : 64635013889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



qeTeH ifecd 8 H1 He HHIes Bivll Wa=an swi 1 it sravmaed 2
(1) 1870 — - HIcdid oiE &,
(2) 1872 —SiER =T faaq.
(3) 1848 — 9Avfis U A
(4) 1849 — 1 famamEal Uy siieq.

Options:

4535054627, 1
64535054628, 2
64535054629 =
64535054530, 4

Question Number : 133 Question 1d : 64635013889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
eI Hifecd 81§ Aeg HHies Bivft @< =l 7 sl A 2
(1) 1870 — -HTedid oiE &,
(2) 1872 — &R =AM fdaq.
(3) 1848 — 9viis U= 4.
(4) 1849 — 1 fasramaal UY siiEq.

Options:

64535054627, 1
4835054828, 2
64535054629, 5
64535054620, 4

Question Number : 134 Question Id : 64635013890 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

qeTcHs Gfgcar= qat HR ST 2
(1) GHHIAH S qdhred=
(2) Haadl Tt HREE vaE gt
(3) T T feparcash
(4) 2ET Y@ ST TaTE
Options:

E4E825054631. 1
E4B25054E32. 2



EAE35054633. 3
E4535054634. 4

Question Number : 134 Question Id : 64635013890 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

qeatens: wfgcrl qa1 Fd raar 2
(1) EHBTAN I HfblefA
(2) HEAdT T HRETE TEE Tt
(3) TS ST fararenes.
(4) BT e AT 2T,
Options:

E4E35054621. 1
EAE35054632. 2
E4E35054633. 3
64535054634, 4

Question Number : 135 Question 1d : 64635013891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
STEEIT=AT HIHIT HATEAHT SHHe HIA{ e 2
(1) i< ST WIEaT 371 HIafd 3o Hod, Fla1es ST EEH A1, a1 7!
(2) U= ST Ul BT LA % el GITel ST HHfi.
(8) il st sl weri=lt Fegy i o wradrs grerdrE SEfid.
(4) TR SE-REER 1, BEASi-SHERLEH Sevai= aoa o feamr=i
EAL UL

Options:

4535054635, 1
64535054636, 2
64535054637, o
64535054538, 4

Question Number : 135 Question 1d : 64635013891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ST GUT=AT FHHIG HATAIHT FEeAT HIHAT HeT 2
(1) di=a STeTHHTS a1 Wrafag 3d Fe4, weiare S G 16, a1 7
(2) AT & UHT BT A A a1l G G Hmfid,
(3) skl il sl el Hlsre iE @i et S Smiid.
(4) TR SEREEA T, BESI-SHIER g Fevai= T e faaur=it
FHAT,

Options:

64535054635, 1
E4E35054B36. 2
4535054837 2
64535054628, 4

Question Number : 136 Question Id : 64635013892 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT aT ST T 8T R —

(1) T T8 e AT el Siid JaT 8l fa=m.

(2) & warr= i faeff sgra v A 2 sgra whe o wd eviea ad
F71eRT. feaur=t ot srEe.

(3) EHIS HATE ST HEhaTaal ST AH=a1 GEnuiEl Y41 dfeeea dasstHt fmift
EICEE G

(4) < UH TSI S SATICAT R SdaTsh TSTuT 68 Hed | S8

Options:

4535054659 1
64535054640, 2
64535054641, =
64535054642, 4

Question Number : 136 Question Id : 64635013892 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



AT aT ST Tl BT HHuT —

(1) T T8~ & AT FHedvT i Jq1 2t fo=m.

(2) & wwrr=ar e el srgva va @ sgw wrehies foe smd evigear 4d
AT feaar=l A afaeyr,

(3) EHIN HATET T Hepareal ST = genodl 3o ufseear daeidt fmff
el 8l 24

(4) WU HATSIAT HZhiH HTIIEAT HARTEE dadTsh IS9T=l 68 Has=l <.

Options:

64835054639, 1
4535054640, 2
64535054641, o
64535054642, 4

Question Number : 137 Question Id : 64635013893 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

<Surfsp=ar dBTHe
B 1 5818 U
o STzt
Hiuee !
EeEE i RN
e “qreztiar d Re s Sl € et giden wur e
(1) e S and
(2) &S A uri
(3) el A FRIe
(4) &I AT Hrct
Options:

E4E35054643. 1
E4E35054644. 2
64535054645, 3
64535054646, 4

Question Number : 137 Question 1d : 64635013893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



S Tfeh=aT deaTHe

T T 813 U
[BURE | G0
Higer !
T A IEE
T “qretiia q R AT S 21 el giden e srred o
(1) T At ATt
(2) &S A uri
(3) Treel A s
(4) el AT Hrcl
Options:

64535054643, 1
64535054644, 2
E4535054645. 3
EAE3505464E. 4

Question Number : 138 Question Id : 64635013894 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T S Hue GSEr Hislies MiE=1 Aaeliheeard qeeell St
(1) HASIT=AT SV Haifad H7Tes UHUTI [S=T-3T= S fashd fem=mewft Fen
(2) Sfa gefisa wa-iF dsie Wt TSTeliE fA=w s,
(8) ARSI HeHil FAMRHUR ST SR |
(4) TG STIAHT ST SiEauit ATdele! St HueT Tiarsasd.
Options:
CAE2E054E47. 1
C4E2E054e48. 2

64535054649, 3
64535054650, 4

Question Number : 138 Question Id : 64635013894 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tt S Hud=ar $SHrEr Wisle Mg SRelihecdrd qeZel! st
(1) WA= Sivishe Hefad et THuie faem-o=m 7 farspd feremeit Fear
(2) A gihedl HEHIF Hsie T TSTelid] =R s,
(8) BT Hehil A ST SnaE |
(4) T STEAHE AT GiaauiT ST st el GieTaah.

Options:

4635054647, 1
64535054648, 2
64535054649 =
64535054650, 4

Question Number : 139 Question 1d : 64635013895 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= faamr g AR ysrise fdghH dadare” & —
) foamaiaeam == ar urE st et de saret.

9) daETi fGam = =4 @131 9 wiarat.
RGEIEIEIE R ECAGR SRS R TR G

)

Options:

64635054651, 1
64535054652, 2
64535054653 =
64835054854 4

Question Number : 139 Question Id : 64635013895 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= faamr g AR yErEre fdgdh yaaret” s —

(1) feramsiaea =< sart gl st rseie et s,

(2) daEri foum = 2a 3l =9 aiaret,

(3) forami=ar Fu=eFTa drsreu STEdre.

(4) IdeTT TSR s fqams geies 99 Tifded

Options:

64535054651, 1
64535054652, 2
648350548532 2
4535054854 4




Question Number : 140 Question Id : 64635013896 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
feram 2 e Shfaar O GRie <70, § T i et
EllEGHE

(1) I T A T

(2) T YU T S

(38) et ¥ SIS THL I

(4) W 37d 9% EL AU

Options:

64535054655 1

C4E3E054E5E. 2

E4E35054657Y. 3
EAE35054655. 4

Question Number : 140 Question Id : 64635013896 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
feram € viig=an Sfifaar v @rEie @i, 6 T e aasEr
SfifaraerET.

(1) A T A T

(2) T YU A S

(3) It e SIS THL T

(4) T ¥ I gL ST

Options:

E4E35054E55 1

CE4EZE0S4EEE. 2

EAE35054657Y. 3
E4E35054658. 4

Question Number : 141 Question Id : 64635013897 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



¥, ANl Rae/3esd HHe wwanr=AT fiaH sell 42 2 i
T R A e e e A S

(1) AT BT =T TR I Tiare AT,

(2) 3 Fiarar 3w MiaTatEt o HiEar st

(3) > Fiaar FATIETET o FHiAar SEhEEE

(4) SR ST SETATET=T T,

Options:

64535054659, 1
64535054660, 2
4835054661, 2
64535054662, 4

Question Number : 141 Question Id : 64635013897 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
¥, ANl Rae/3esd HHe wwanr=AT fiaH sell 42 2 i
T R A e e e A S

(1) AT BT =T TR I Tiare AT,

(2) 3 Fiarar 3w MiaTatEt o HiEar st

(3) > Fiaar FATIETET o FHiAar SEhEEE

(4) SR ST SETATET=T T,

Options:

64535054659, 1
64535054660, 2
4835054861, 2
4535054862, 4

Question Number : 142 Question Id : 64635013898 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) AEfEEHEs YrafasmErEn ol aHar.
(2) RREFEE AEREFHEE! SER AHaT.
(3) RIS W e et Hiard.
(4) FREFHETF HEEAFETET B HHT.

Options:
64635054663, 1



EAE35054664. 2
64535054865, 3
E4535054866. 4

Question Number : 142 Question 1d : 64635013898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) e yrefasmarE s aHar.
(2) HEfEaHIS rEfEETE AT qHdT.
(3) TS HEEFETE StET "Hare.
(4) TEREEHE I REEE T HHaT.

Options:
4535054663 1

E4E35054664. 2
E4E35054665. 3
EAE35054866. 4

Question Number : 143 Question Id : 64635013899 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) i Femas JaeaiaTd it stedt o 30 e,

(2) I IS G o G Jetide e e JerHt ag=
(3) TG qEATR] SvEE ] S @9 darel

(4) AT SFATRY Shishuft arerdt aTereh-ar STHe! Il HTEE,

Options:

4835054667, 1
4535054868, 2
64535054669, o
64535054670, 4

Question Number : 143 Question Id : 64635013899 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(1) Thiaid e ST L sadt ofish 3 6.

(2) TiEE! At S o G Fetds et se ot mgu=n
B RRIIRIGE-CE I LI EIEI REE REERGIGI]

(4) TIiTE QEATTHT Shishuft arerdt areeh-ant wnTeR 3l HTE.

Options:

64535054667, 1
64535054668, 2
4835054869 2
4535054870, 4

Question Number : 144 Question Id : 64635013900 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T feeal fotreaiat Jm she = 0
(1) Iioh ST, HRIeh W, THTIH shicis, 1. siresiie, U= bl
(2) HI. e, Wi gHEl, T Hei, Hige dedl, g sl
(8) o Strebisr, €. srenio, Aish gTal, diHTfem Srais, Hrdh HedT.
(4) ©. sreaiey, qETEE Feis, 9 e, i e 9 gurrel.

Options:

64535054671, 1
4835054872 2
4535054873 2
64535054674, 4

Question Number : 144 Question Id : 64635013900 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wehae feeal fonfreai=t die she =t o
(1) leh SHTET, HRIeh W, THTIH shicis, €. STesii, i bl
(2) W FreaivE, W gweEl, aTiEE Fei, e dedt, fima sl
(8) T SiTebier, ©. i, Ui GTal, IS HTais, HIdeh Hedl.
(4) ©l. HTeTiE, TR Heis, qre Hedr, -8 S 98 gl

Options:
64535054671 1
435054672 2

EAEZ505467 3. 3



EAE35054674. 4

Question Number : 145 Question Id : 64635013901 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

RIS SETTHI] SHisi=l s ST,
(1) IsiqL, 919197 hedl, 3Tedld, g
(2) IO B, STEIH, T, T
(8) AL TNV hedl, Isia, e
(4) oG, GAW, TN Hadl, Ieel

Options:

4535054675, 1
64535054676, 2
64535054677, o
64535054675, 4

Question Number : 145 Question Id : 64635013901 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
YR ITHT=AT S TTHTO SHiga =T 70 AT,

(1) IAGL A HBL, FEIG, gIN

(2) IO B, TEIt, T, IAL

(3) T, UIYIVT hedl, Isict, el

(4) HEdId, AT, 9T hedl, Il

Options:

4535054675 1
64535054676, 2
64535054677, o
64535054675, 4

Question Number : 146 Question Id : 64635013902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FHishult IS HES=aT FEAAT=T FHIhE=a1 FETIHIT 3hH AT,
(1) Uz W AR, F3E 9 961, Bl wrter, armh savien
(2) e Y s, Ug B i, Bleifty Heis, el geviwn
(3) hII ¥ Hesl, THISH FeaviehIL, Hic1ferg reior, Ug HiT ATHIE
(4) TS gL, Hfafty Freie, 9g H AT, S T we

Options:
64835054679, 1
E4E35054E650. 2

E4E35054681. 3




EAE35054682. 4

Question Number : 146 Question Id : 64635013902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HIHl AT HSB =T S AT SRS AT THIIHIT FH AT,
(1) % B ATHIE, F 1] 751, BieAfey s, arrsfl svien
(2) uE T AR, Ug I HiE, Bty Feis, st g@vien
() v W A, TS gvishi, Bt e, Ug $iv e
(4) T EviER, il Fei, U P T, T e

Options:

64535054679, 1
64535054680, 2
E4E35054681. 2
645350546582, 4

Question Number : 147 Question Id : 64635013903 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

¥, ATHEA ERRCEICEETCaty T 2012
. Hiel "iel ERE iRt 3. 2010
%. da-aredl UEgeal S, IRqdg 3t g. 2013
. foeumg 4. FIIHY AT AleHHT & 2007
ERRIIEEICRCRIRIET] . 2008
4. 2009

IRIGE

(1) ¥-9¥-8, §9-9-8 &H-3-2 T-9-4
(2) F¥-9A-8, 9-F-T, F-¥F-2, $-T-9
8) I-¥-8 F-F-Z, H-T-1, T-8-T

4) F-T-U, T-F-3, H-A-7, &-TF-
Options:
645350546583 1
G4E35054684. 2
64535054685, 3
64535054686, 4

Question Number : 147 Question Id : 64635013903 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



3. TR 9. Gsig AN 2z, 2012
. Hiel "iel ERE iRt 3. 2010
%. da-aredl Udeal S, IRqdg 3t g. 2013
. foeumg 4. FIVAY AT AGHFT & 2007
ERRIIEEICRCRIRIET] . 2008
4. 2009

ST,

(1) A-$-8, ®-9-8 &H-31-2 §T-§-4
(2) F-9-8%, q-T-U, HF-¥-2, T-9-¢
(3) A-V-8, H-H-¢ F-T-7, FT-B-T
(4) A-F-U, T--3, F-I-9, §-F-¢

Options:

4835054683, 1
4535054884, 2
64535054685, o
64535054686, 4

Question Number : 148 Question Id : 64635013904 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

3. fusks fhmey few/ad srEl Seln 929 9. B ARE
g feer.

. Vel HIBSH gadTavi/ATeaiH| siferd @, st Tt

RN | 6 3 g | [ 7| AR A | S | A M o == | A

g\ fomi wend fardfia fafia ERREET G|
BT Feld] TedT 91 Widid widia

)

3. fieEr Eiesn

(1) A-F,9-8,F-T,8-
(2) -8B, 9-9,F-I.5-H
3 A-AA-A,F-85,85-9
4) A-JT-TA F-H -

Options:
64535054687, 1



EAE35054688. 2
645350546885, 3
64535054630, 4

Question Number : 148 Question 1d : 64635013904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

¥, sk e few/ad arel sen w=e 9. HARE AES
oo feer.
. PO T g e e @, ¥
%. UTetdelcit 91d fohedteh 9a i SITedl/ &, <9 $ela e
g gyArere femi wend fadig fadia 7. fgeemmy
FEETE! Feal Tl 912 Bidid |ield
o, e @igsn
(1) -9, 9-B,F-T.8-H
(2) A-B, -9, F-T,8-9
(3) A-Ad-A,F-8,8-9
(4) H-B.d-A. H-H. 8-

Options:

4535054657, 1
64535054688, 2
64535054689, o
64535054590, 4

Question Number : 149 Question Id : 64635013905 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



H. o goll EAEECRCEEI]

q. HETEl S @ HRE G

% NS . HiH s

g AWl T L
3. HITEW

T fawed T giet, ST qiqaedl o1 si=al Bl Al Siiedl AT

1) A-d.d-wl. % -3, 5-9

(1)
(2) A-AT-HF-¥.85-4
(3)
(4)

3) A-VA-AB-H -

) H-BA-AF-A.5-F

Options:

4535054691, 1
64535054692, 2
64535054693 =
64535054594, 4

Question Number : 149 Question 1d : 64635013905 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

¥, rEd g 9. T EE

q. HETEl S @ HRE

% NS A, i s

g BTGl HIT o RIS
S e

A farwed et e, AT diqaedl 1 gi=dl el ol gl dM.

1) IA-AA-AF-AE-F

(1)
(2] :ﬂha:a_ara;_agg—a
(3)
(4)

3) H-AT-AF-FE-I

1) F-BA-IA,F-A.8-F

Options:

64535054691, 1
E4E35054892. 2
64535054692, 5
64535054694, 4

Question Number : 150 Question Id : 64635013906 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



woTled et STt UTedt Bl Sisdl |,

H. TeTBR 9. TEH AR
. il feie d@ug . Sl b
F. FATHES S, dgehid Uil
g Edd T it wur 7. Tfy dfeq
CMRCLEIRED

(1) ¥-8., 9-8, &H-"H -9

(2) ¥-9. d-9d, H-¥ T-F

@ H-%, d-5, H-d S-H

4) HA-91, 9-9¥, F-A, T-

Options:

CAEZE054E595. 1

CAEZE054E96. 2

425054697 2

4525054595, 4

Question Number : 150 Question Id : 64635013906 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HuTied geaehl A ot daredt gi=al sligar ori.

. Toel ERREIEELEAL
5. @iEf feie due 3. A FHBHN
F. HATFE o, <Eeid il
€. Hda TEae! hiket YT ¥, i dfed
3. T A

(1) A-¥, §-8, H-%* T-A

(2) F-¥, T-9, ®-9, S-T

38) H-, * -9, -9

4) ¥F¥-F, q-8, F-"U, T-F

Options:

Lde2E5054e495, 1

CACEE054R96 2

CAEZEQE4EQT . =

CAEZENE4E9E. 4



